
H

H
1

D

L

A

G1

G

V dkd

D1

D

A

V
d

H

d

Perno arresto

D

H1717 MECHANICAL 
ELEMENTS



1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

H

H
1

D

L

A

G1

G

V dkd

D1

MECHANICAL ELEMENTS

Hollow anchors
page 16.8

Drilling guide bushes
page 16.24

Locking rings
page 16.26

Joints
page 16.32

Forks
page 16.44

Clips
page 16.52

Pins
page. 16.48

Threaded inserts
page 16.21

Washers
page 16.1

T-nuts and T-bolts for alluminium profile
pag. 16.12



d

D

H1
H

R

17.1 www.gberardi.com  - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

BA0S3-C

Code 
AC phosphated

Code 
AC galvanized white

DN d
(H13)

D H H1 R Max static load
(kN)

Package
(pcs)

BA0S375C05000 - M5 5,25 10,5 2 0,4 7,5 6,5 50
BA0S375C06000 BA0S375C06001 M6 6,4 12 2,3 0,7 9 9 50
BA0S375C08000 BA0S375C08001 M8 8,4 17 3,2 0,6 12 17 50
BA00662040100 BA00662040101 M10 10,5 21 4 0,8 15 26 50
BA00662040200 BA00662040201 M12 13 24 4,6 1,1 17 38 50
BA0S375C14000 - M14 15 28 5 1,2 22 53 25
BA00662040300 BA00662040301 M16 17 30 5,3 1,3 22 73 25
BA0S375C20000 BA0S375C20001 M20 21 36 6,3 2 27 117 10
BA0S375C24000 BA0S375C24001 M24 25 44 8,2 2,4 32 168 10
BA0S375C27000 BA0S375C27001 M27 28 50 9,5 - 37 - 1
BA00662040600 BA00662040601 M30 31 56 11,2 3,6 41 269 1
BA00662040700 BA00662040701 M36 37 68 14 4,6 50 394 1
BA0S375C42000 BA0S375C42001 M42 43 78 17 6,5 58 542 1

STANDARD 
DIN 6319/C 
 
MATERIAL - SURFACE TREATMENT 
AC (Steel) HV10 phosphated 
AC (Steel) HV10 galvanized white 
 
USE 
Using the convex washer along with the concave one 
allows clamping between two surfaces that are not 
parallel. 
 
 
 
 
 
 
 
 
 
 
ACCESSORIES 
Can be assembled with concave washer DIN 6319/D or 
DIN 6319/G. d d

D D

3°
R

H H

A

C D G

H
1

V

CONVEX WASHER



D

d

A

V

H

17.2www.gberardi.com - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

BA0S3-A

STANDARD 
DIN 6319/D 
 
MATERIAL - SURFACE TREATMENT 
AC (Steel) HV10 phosphated 
AC (Steel) HV10 galvanized white 
 
USE 
Using the convex washer along with the concave one 
allows clamping between two surfaces that are not 
parallel. 
 
 
 
 
 
 
 
 
 
 
ACCESSORIES 
Can be assembled with convex washer DIN 6319/C.

Code
AC phosphated

Code 
AC galvanized white

DN d
(H13)

D H V A Max static load 
(kN)

Package
(pcs)

BA0S375D05000 - M5 6 10,5 2,1 9,25 120° 6,5 50
BA0S375D06000 BA0S375D06001 M6 7,1 12 2,8 11 120° 9 50
BA00662041000 BA00662041001 M8 9,6 17 3,5 14,5 120° 17 50
BA00662041100 BA00662041101 M10 12 21 4,2 18,5 120° 26 50
BA00662041200 BA00662041201 M12 14,2 24 5 20 120° 38 50
BA0S375D14000 - M14 16,5 28 5,6 24,8 120° 53 25
BA00662041300 BA00662041301 M16 19 30 6,2 26 120° 73 25
BA00662041400 BA00662041401 M20 23,2 36 7,5 31 120° 117 10
BA0S375D24000 BA0S375D24001 M24 28 44 9,5 37 120° 168 10
BA0S375D27000 BA0S375D27001 M27 31,5 50 10,8 - 120° - 1
BA00662041600 BA00662041601 M30 35 56 12 49 120° 269 1
BA00662041700 BA00662041701 M36 42 68 15 60 120° 394 1
BA0S375D42000 BA0S375D42001 M42 49 78 18 70 120° 542 1
BA0S375D48000 BA0S375D48001 M48 56 92 22 82 120° 714 1

d d

D D

3°
R

H H

A

C D G
H

1

V

CONCAVE WASHER



D

A

V
d

H

17.3 www.gberardi.com  - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

BA0S3-B

STANDARD 
DIN 6319/G 
 
MATERIAL - SURFACE TREATMENT 
AC (Steel) HV30 phosphated 
AC (Steel) HV30 white galvanized 
 
USE 
Using the convex washer along with the concave one 
allows clamping between two surfaces that are not 
parallel. 
 
 
 
 
 
 
 
 
 
 
ACCESSORIES 
Can be assembled with convex washer DIN 6319/C.

Code 
AC phosphated

Code 
AC galvanized white

DN d
(H13)

D H  V A Package 
(pcs)

BA0S375G06000 - M6 7,1 17 4 11 120° 10
BA0S375G08000 BA0S375G08001 M8 9,6 23 4 14,5 120° 10
BA0S375G10000 - M10 12 28 5 18,5 120° 10
BA00662042200 - M12 14,2 35 5 20 120° 10
BA0S375G14000 M14 16,5 40 5 24,8 120° 10
BA0S375G16000 BA0S375G16001 M16 19 45 6 26 120° 10
BA0S375G20000 - M20 23,2 50 8 31 120° 10
BA0S375G24000 - M24 28 60 10 37 120° 1
BA0S375G30000 - M30 35 68 10 49 120° 1
BA0S375G35000 - M36 42 80 12 60 120° 1
BA0S375G48000 - M48 56 110 17 82 120° 1

d d

D D

3°
R

H H

A

C D G

H
1

V

OVERSIZED CONCAVE WASHER



D

d

H

17.4www.gberardi.com - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

BA0S3-D

Code
36SMnPb14 phosphated

d D H Package 
(pcs)

BA0S370060000 6,6 13 3,5 10
BA0S370080000 8,4 18 4 10
BA0S370010000 10,5 22 4 10
BA0S370012000 13 28 5 10
BA0S370014000 15 35 6 10
BA0S370016000 17 35 6 10
BA0S370018000 19 40 6 10
BA0S370020000 21 40 6 10
BA0S370022000 23 45 8 10
BA0S370024000 25 45 8 10
BA0S370027000 28 60 10 10
BA0S370030000 31 60 10 10
BA0S370042000 43 80 12 10
BA0S370036000 37 70 12 10
BA0S370048000 49 90 12 10
BA0S380006000 6,6 20 8 10
BA0S380008000 8,4 35 8 10
BA0S380010000 10,5 35 8 10
BA0S380012000 13 40 8 10
BA0S380014000 15 40 10 10
BA0S380016000 17 45 10 10
BA0S380020000 21 50 12 10
BA0S380022000 23 50 12 10
BA0S380024000 25 50 12 10
BA0S390006000 6,6 17 3,5 100
BA0S390008000 8,4 23 4 100
BA0S390010000 10,5 28 4 100
BA0S390012000 13 35 5 50
BA0S390014000 15 40 5 100
BA0S390016000 17 45 6 50
BA0S390018000 19 45 6 25
BA0S390020000 21 50 6 25
BA0S390022000 23 50 8 25
BA0S390024000 25 60 8 10
BA0S390027000 28 68 10 10
BA0S390030000 31 68 10 10
BA0S390036000 38 80 12 10
BA0S390042000 44 100 15 10
BA0S390048000 50 100 17 10

MATERIAL 
36SMnPb14 (Steel) HV230

SURFACE TREATMENT 
Phosphated

TURNED WASHER



D

d
H

SM

17.5 www.gberardi.com  - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

RGS03

Code 
AC phosphated

Code 
AC galvanized white

Code 
AC niploy

d D H SM Package 
(pcs)

RGS0321020531 RGS0321020501 - 3,2 10 2 0,5 x 45° 200
RGS0421020531 RGS0421020501 RGS04210205I8 4,2 10 2 0,5 x 45° 200
RGS0421530531 RGS0421530501 RGS05215305I8 4,2 15 3 0,5 x 45° 200
RGS0521530531 RGS0521530501 - 5,2 15 3 0,5 x 45° 200
RGS0522030531 RGS0522030501 - 5,2 20 3 0,5 x 45° 200
RGS0523041031 RGS0523041001 - 5,2 30 4 1 x 45° 100
RGS0621530531 RGS0621530501 RGS06215305I8 6,2 15 3 0,5 x 45° 200
RGS0622030531 RGS0622030501 RGS06220305I8 6,2 20 3 0,5 x 45° 200
RGS0622541031 RGS0622541001 RGS06225410I8 6,2 25 4 1 x 45° 200
RGS0623041031 RGS0623041001 RGS06230410I8 6,2 30 4 1 x 45° 100
RGS0623551031 RGS0623551001 - 6,2 35 5 1 x 45° 100
RGS0654051031 RGS0654051001 - 6,5 40 5 1 x 45° 100
RGS0852040531 RGS0852040501 RGS08520405I8 8,5 20 4 0,5 x 45° 200
RGS0852541031 RGS0852541001 RGS08525410I8 8,5 25 4 1 x 45° 200
RGS0853041031 RGS0853041001 RGS08530410I8 8,5 30 4 1 x 45° 100
RGS0853551031 RGS0853551001 - 8,5 35 5 1 x 45° 100
RGS0854051031 RGS0854051001 - 8,5 40 5 1 x 45° 100
RGS0854552031 RGS0854552001 - 8,5 45 5 2 x 45° 50
RGS0855062031 RGS0855062001 - 8,5 50 6 2 x 45° 50
RGS1052541031 RGS1052541001 RGS10525410I8 10,5 25 4 1 x 45° 200
RGS1053041031 RGS1053041001 RGS10530410I8 10,5 30 4 1 x 45° 100
RGS1053551031 RGS1053551001 RGS10535510I8 10,5 35 5 1 x 45° 100
RGS1054051031 RGS1054051001 RGS10540510I8 10,5 40 5 1 x 45° 100
RGS1054552031 RGS1054552001 - 10,5 45 5 2 x 45° 50
RGS1055062031 RGS1055062001 - 10,5 50 6 2 x 45° 50
RGS1253041031 RGS1253041001 - 12,5 30 4 1 x 45° 100
RGS1255062031 RGS1255062001 - 12,5 50 6 2 x 45° 50

MATERIAL - SURFACE TREATMENT 
AC (Steel) phosphated 
AC (Steel) galvanized white 
AC (Steel) niploy

TURNED LARGE THICK WASHER RLGS



SM
H

D

V
d

17.6www.gberardi.com - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

RTC04

Code 
AC phosphated

Code 
AC galvanized white

Code 
AC niploy

d D H V SM Package 
(pcs)

RTC0411330031 RTC0411330001 - 4,1 13 3 8 2,1 x 45° 200
RTC0521635031 RTC0521635001 RTC05216350I8 5,2 16 3,5 10 2,6 x 45° 200
RTC0651835031 RTC0651835001 - 6,5 18 4 12,5 2,1 x 45° 200
RTC0852550031 RTC0852550001 RTC08525500I8 8,5 25 5 16,5 3,5 x 45° 200
RTC1053370031 RTC1053370001 - 10,5 33 7 20,5 6 x 45° 100
RTC1254080031 RTC1254080001 - 12,5 40 8 24,5 7 x 45° 100

MATERIAL - SURFACE TREATMENT 
AC (Steel) phosphated 
AC (Steel) galvanized white 
AC (Steel) niploy

TURNED CONICAL WASHER RTC



D

D1

d

H2

H
H1

17.7 www.gberardi.com  - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

RTS06

Code 
AC phosphated

Code
AC galvanized white

d D H H1 H2 D1 Package 
(pcs)

RTS0651540031 RTS0651540001 6,5 15 4 1,5 1 9 200
RTS0852265031 RTS0852265001 8,5 22 6,5 1,5 2 12 200
RTS1052265031 RTS1052265001 10,5 22 6,5 1,5 2 14 200

MATERIAL - SURFACE TREATMENT 
AC (Steel) phosphated 
AC (Steel) galvanized white

TURNED WASHER WITH JUNCTION HEAD RTS



g1

d G
1G

H1

H
L

17.8www.gberardi.com - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

BA0S3-E

Code 
Cl 10 phosphated

Code 
Cl 10 galvanized white

g1 G1 d G L H H1 Package 
(pcs)

BA9S360040500 - 5 5 M4 9 9 6,5 3 25
BA0S360000600 BA0S360000601 8 7,7 M6 13 13 10 6 25
BA0S360000800 BA0S360000801 10 9,7 M8 15 15 12 6 25
BA0S360801200 - 12 11,7 M8 18 18 14 7 25
BA0S360101200 BA0S360101201 12 11,7 M10 18 18 14 7 10
BA0S360801400 - 14 13,7 M8 22 22 16 8 10
BA0S360101400 BA0S360101401 14 13,7 M10 22 22 16 8 10
BA0S360121400 BA0S360121401 14 13,7 M12 22 22 16 8 10
BA0S360101600 BA0S360101601 16 15,7 M10 25 25 18 9 10
BA0S360121600 BA0S360121601 16 15,7 M12 25 25 18 9 10
BA0S360141600 BA0S360141601 16 15,7 M14 25 25 18 9 10
BA0S360801800 - 18 17,7 M8 28 28 20 10 10
BA0S360101800 BA0S360101801 18 17,7 M10 28 28 20 10 10
BA0S360121800 BA0S360121801 18 17,7 M12 28 28 20 10 10
BA0S360141800 BA0S360141801 18 17,7 M14 28 28 20 10 10
BA0S360161800 BA0S360161801 18 17,7 M16 28 28 20 10 10
BA0S360162000 BA0S360162001 20 19,7 M16 32 32 24 12 10
BA0S360181900 - 20 19,7 M18 32 32 24 12 10
BA0S360162200 BA0S360162201 22 21,7 M16 35 35 28 14 10
BA0S360182200 BA0S360182201 22 21,7 M18 35 35 28 14 10
BA0S360202200 BA0S360202201 22 21,7 M20 35 35 28 14 10
BA0S360162400 BA0S360162401 24 23,7 M16 40 40 32 16 10
BA0S360202400 BA0S360202401 24 23,7 M20 40 40 32 16 10
BA0S360162800 BA0S360162801 28 27,7 M16 44 44 36 18 10
BA0S360202700 - 28 27,7 M20 44 44 36 18 10
BA0S360242800 BA0S360242801 28 27,7 M24 44 44 36 18 10
BA00662051000 - 36 35,6 M30 54 54 44 22 10

STANDARD 
DIN 508 
 
MATERIAL - SURFACE TREATMENT 
Cl 10 (Steel) phosphated 
Cl 10 (Steel) galvanized white

STANDARD HOLLOW “T” ANCHOR



G
1G

H1

H

L

g1

17.9 www.gberardi.com  - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

BA0S3-F

Code
Cl 10 phosphated

g1 G1 G L H H1 Package 
(pcs)

BA0S361010000 10 9,7 15 15 12 6 10
BA0S361014000 14 13,7 22 22 16 8 10
BA0S361016000 16 15,7 25 25 18 9 10
BA0S361020000 20 19,7 32 32 24 12 1
BA9S361028000 28 27,7 44 44 36 18 1
BA0S361032000 32 31,6 50 50 40 20 1
BA0S361042000 42 41,6 65 65 52 26 1

MATERIAL - SURFACE TREATMENT 
Cl 10 (Steel) phosphated 

FULL HOLLOW “T” ANCHOR



H1

H
G

1G

d

L

g1

17.10www.gberardi.com - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

BA0S3-G

Code
Cl 10 phosphated

g1 G1 d G L H H1 Package 
(pcs)

BA0S362608000 8 7,7 M6 13 26 10 5 10
BA0S362810000 10 9,7 M8 15 30 12 6 10
BA0S362100000 12 11,7 M10 18 36 14 7 10
BA0S362120000 14 13,7 M12 22 44 16 8 10
BA0S362160000 18 17,7 M16 28 56 20 10 10

MATERIAL - SURFACE TREATMENT 
Cl 10 (Steel) phosphated 

DOUBLE HOLLOW “T” ANCHOR



d

L

G
1G

H1

H

g1

17.11 www.gberardi.com  - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

BA0S3-H

Code
Cl 10 phosphated

g1 G1 d G L H H1 Package 
(pcs)

BA0S363101200 12 11,7 M10 18 11,7 14 7 10
BA0S363101400 14 13,7 M10 22 13,7 16 8 10
BA0S363121400 14 13,7 M12 22 13,7 16 8 10
BA0S363141600 16 15,7 M14 25 15,7 18 9 10
BA0S363161800 18 17,7 M16 28 17,7 20 10 10
BA0S363162000 20 19,7 M16 32 19,7 24 12 1
BA0S363162200 22 21,7 M16 35 21,7 28 14 1
BA0S363202200 22 21,7 M20 35 21,7 28 14 1
BA0S363240280 28 27,7 M24 44 27,7 36 18 1

MATERIAL - SURFACE TREATMENT 
Cl 10 (Steel) phosphated 

RHOMBOIDAL HOLLOW “T” ANCHOR



17.12www.gberardi.com - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

AP5DS

Item code Type D Profil Slot B x L H H1 h N Package 
(pcs)

AP5DS0305I001 A M3 I 5 7,1 x 12 4,3 1 0,6 4,9 100
AP5DS0405I001 A M4 I 5 7,1 x 12 4,3 1 0,6 4,9 100
AP5DS0505I001 A M5 I 5 7,1 x 12 4,3 1 0,6 4,9 100
AP5DS0306I101 A M3 I 6 10,5 x 17 6,9 1 0,6 6,5 100
AP5DS0406I101 A M4 I 6 10,5 x 17 6,9 1 0,6 6,5 100
AP5DS0506I101 A M5 I 6 10,5 x 17 6,9 1 0,6 6,5 100
AP5DS0606I101 A M6 I 6 10,5 x 17 6,9 1 0,6 6,5 100
AP5DS0305I101 B M3 I 5 7,7 x 12 4 1 0,6 4,9 100
AP5DS0405I101 B M4 I 5 7,7 x 12 4 1 0,6 4,9 100
AP5DS0505I101 B M5 I 5 7,7 x 12 4 1 0,6 4,9 100
AP5DS0308I001 B M3 I 8 13,5 x 22 7,2 1,75 0,8 7,8 100
AP5DS0408I001 B M4 I 8 13,5 x 22 7,2 1,75 0,8 7,8 100
AP5DS0508I001 B M5 I 8 13,5 x 22 7,2 1,75 0,8 7,8 100
AP5DS0608I001 B M6 I 8 13,5 x 22 7,2 1,75 0,8 7,8 100
AP5DS0808I001 B M8 I 8 13,5 x 22 7,2 1,75 0,8 7,8 100
AP5DS0305I201 C M3 I 5 8 x 12 4,2 1 - - 100
AP5DS0405I201 C M4 I 5 8 x 12 4,2 1 - - 100
AP5DS0505I201 C M5 I 5 8 x 12 4,2 1 - - 100
AP5DS0308I101 C M3 I 8 13,7 x 22 7 1,7 - - 100
AP5DS0408I101 C M4 I 8 13,7 x 22 7 1,7 - - 100
AP5DS0508I101 C M5 I 8 13,7 x 22 7 1,7 - - 100
AP5DS0608I101 C M6 I 8 13,7 x 22 7 1,7 - - 100
AP5DS0808I101 C M8 I 8 13,7 x 22 7 1,7 - - 100
AP5DS0306I001 D M3 I 6 10,5 x 17 6,3 1 0,7 - 100
AP5DS0406I001 D M4 I 6 10,5 x 17 6,3 1 0,7 - 100
AP5DS0506I001 D M5 I 6 10,5 x 17 6,3 1 0,7 - 100
AP5DS0606I001 D M6 I 6 10,5 x 17 6,3 1 0,7 - 100

MATERIAL - SURFACE TREATMENT 
T-slot nut: Zinc platetd steel 
Ball: Stainless steel

TYPE A

TYPE C

TYPE B

TYPE D

T-slot nut is inserted into the slot of the profile from the 
top, the bottom or by rotation. The spring ball allows the 
dowel to stay in place.

NOTES

SELF-ALIGNING ROLL-IN T-SLOT NUT WITH SPRING LOADED BALL



17.13 www.gberardi.com  - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

AP5DI

Item code D Profil Slot B x L H h N Package 
(pcs)

AP5DI0408B001 M4 B 8 11,6 x 16 4,6 1 7,9 100
AP5DI0508B001 M5 B 8 11,6 x 16 4,6 1 7,9 100
AP5DI0608B001 M6 B 8 11,6 x 16 4,6 1 7,9 100
AP5DI0808B001 M8 B 8 11,6 x 16 4,6 1 7,9 100
AP5DI0410B001 M4 B 10 14 x 19 5,2 1,5 9,9 100
AP5DI0510B001 M5 B 10 14 x 19 5,2 1,5 9,9 100
AP5DI0610B001 M6 B 10 14 x 19 5,2 1,5 9,9 100
AP5DI0810B001 M8 B 10 14 x 19 5,2 1,5 9,9 100

MATERIAL - SURFACE TREATMENT 
Zinc platetd steel 

SELF-ALIGNING ROLL-IN T-SLOT NUT

NOTES
T-slot nut is inserted into the slot of the profile from the 
top, the bottom or by rotation.



17.14www.gberardi.com - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

AP5DR

Item code D Profil  Slot B x L H h H1 N Package 
(pcs)

AP5DR0408B001 M4 B 8 11,6 X 16 4,6 1 9,8 7,9 100
AP5DR0508B001 M5 B 8 11,6 X 16 4,6 1 9,8 7,9 100
AP5DR0608B001 M6 B 8 11,6 X 16 4,6 1 9,8 7,9 100
AP5DR0808B001 M8 B 8 11,6 X 16 4,6 1 9,8 7,9 100
AP5DR0410B001 M4 B 10 14 X 19 5,2 1,5 10,2 9,9 100
AP5DR0510B001 M5 B 10 14 X 19 5,2 1,5 10,2 9,9 100
AP5DR0610B001 M6 B 10 14 X 19 5,2 1,5 10,2 9,9 100
AP5DR0810B001 M8 B 10 14 X 19 5,2 1,5 10,2 9,9 100

MATERIAL - SURFACE TREATMENT 
Zinc platetd steel 

SELF-ALIGNING ROLL-IN T-SLOT NUT WITH SPRING LEAF

NOTES
T-slot nut is inserted into the slot of the profile from the 
top, the bottom or by rotation. The spring leaf allows the 
dowel to stay in place.



17.15 www.gberardi.com  - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

AP5DT

Item code D Profil Slot B x L H H1 h N Package 
(pcs)

AP5DT0408I001 M4 I 8 17 x 22 9,6 1,65 2,9 8 100
AP5DT0508I001 M5 I 8 17 x 22 9,6 1,65 2,9 8 100
AP5DT0608I001 M6 I 8 17 x 22 9,6 1,65 2,9 8 100
AP5DT0808I001 M8 I 8 17 x 22 9,6 1,65 2,9 8 100

MATERIAL - SURFACE TREATMENT 
T-slot nut: Zinc platetd steel 
Ball: Stainless steel 

SELF-ALIGNING ROLL-IN T-SLOT NUT WITH SPRING LOADED BALL

T-slot nut is inserted into the slot of the profile from the 
top or the bottom. The spring ball allows the dowel to 
stay in place.

NOTES



17.16www.gberardi.com - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

AP5D0

Item code D h Profil Slot B x L H N Package 
(pcs)

AP5D00406B001 M4 1 B 6 5,7 x 11,5 3,2 5,7 100
AP5D00408B001 M4 1,5 B 8 7,7 x 16 4,5 7,7 100
AP5D00508B001 M5 1,5 B 8 7,7 x 16 4,5 7,7 100
AP5D00608B001 M6 1,5 B 8 7,7 x 16 4,5 7,7 100
AP5D00408I001 M4 3 I 8 7,7 x 16 4,5 7,7 100
AP5D00508I001 M5 3 I 8 7,7 x 16 4,5 7,7 100
AP5D00608I001 M6 3 I 8 7,7 x 16 4,5 7,7 100
AP5D004100001 M4 1,3 - 10 9,7 x 19 5 9,7 100
AP5D005100001 M5 1,3 - 10 9,7 x 19 5 9,7 100
AP5D006100001 M6 1,3 - 10 9,7 x 19 5 9,7 100
AP5D008100001 M8 1,3 - 10 9,7 x 19 5 9,7 100
AP5D005100101 M5 1,5 - 10 9,7 x 19 5,8 9,7 100
AP5D006100101 M6 1,5 - 10 9,7 x 19 5,8 9,7 100
AP5D008100101 M8 1,5 - 10 9,7 x 19 5,8 9,7 100
AP5D00410B001 M4 3 B 10 9,7 x 19 5,8 9,7 100
AP5D00510B001 M5 3 B 10 9,7 x 19 5,8 9,7 100
AP5D00610B001 M6 3 B 10 9,7 x 19 5,8 9,7 100
AP5D00810B001 M8 3 B 10 9,7 x 19 5,8 9,7 100

MATERIAL - SURFACE TREATMENT 
Zinc platetd steel 

HAMMER NUT

The fixing into the slot of the profile takes place by 
inserting the nut and turning it 90 ° with respect to the 
position of entrance.

NOTES



17.17 www.gberardi.com  - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

AP5V0

Item code
Zinc platetd steel

Item code
AISI 316

D x L h Profil N
(Cava)

B x L1 Package 
(pcs)

AP5V00608B001 M6x16 1,5 B 8 8 x 16 100
AP5V00608B101 M6x20 1,5 B 8 8 x 16 100
AP5V00608B201 M6x25 1,5 B 8 8 x 16 100
AP5V00608B301 M6x60 1,5 B 8 8 x 16 100
AP5V00808B001 M8x20 1,5 B 8 8 x 16 100
AP5V00808B101 M8x25 1,5 B 8 8 x 16 100
AP5V00808B201 M8x30 1,5 B 8 8 x 16 100
AP5V00608I001 M6x20 3 I 8 8 x 16 100
AP5V00608I101 M6x25 3 I 8 8 x 16 100
AP5V00808I001 M8x20 3 I 8 8 x 16 100
AP5V00808I101 M8x25 3 I 8 8 x 16 100
AP5V00808I201 M8x30 3 I 8 8 x 16 100
AP5V00808I301 M8x40 3 I 8 8 x 16 100
AP5V00810B001 M8x20 1,5 - 10 8 x 17,5 100
AP5V00810B101 M8x25 1,5 - 10 8 x 17,5 100
AP5V00810B201 M8x20 3 B 10 8,5 x 17,5 100
AP5V00810B301 M8x25 3 B 10 8,5 x 17,5 100
AP5V00810B401 M8x30 3 B 10 8,5 x 17,5 100
AP5V00810B501 M8x40 3 B 10 8,5 x 17,5 100
AP5V00810B601 M8x60 3 B 10 8,5 x 17,5 100

AP5V00610B001 M6x20 3 B 10 8,5 x 19,4 100
AP5V00610B101 M6x25 3 B 10 8,5 x 19,4 100
AP5V00610B201 M6x30 3 B 10 8,5 x 19,4 100
AP5V00610B301 M6x40 3 B 10 8,5 x 19,4 100
AP5V00610B401 M6x60 3 B 10 8,5 x 19,4 100
AP5V00810B701 M8x30 3 B 10 8,5 x 19,4 100
AP5V00810B801 M8x40 3 B 10 8,5 x 19,4 100
AP5V00810B801 M8x60 3 B 10 8,5 x 19,4 100

MATERIAL - SURFACE TREATMENT 
Zinc platetd steel
AISI 316 (Inox) 

HAMMER HEAD SREW

The fixing into the slot of the profile takes place by 
inserting the screw and turning it 90 ° with respect to the 
position of entrance. The screw has a position indicator 
at the tip.

NOTES



17.18www.gberardi.com - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

AP5PF

Item code D L x B x H Profil Package 
(pcs)

AP5PF04090901 M4 9 x 9 x 3 - 100
AP5PF05090901 M5 9 x 9 x 3 - 100
AP5PF06090901 M6 9 x 9 x 3 - 100
AP5PF04140901 M4 14 x 9 x 2,5 - 100
AP5PF05140901 M5 14 x 9 x 2,5 - 100
AP5PF04141201 M4 14 x 12 x 3 - 100
AP5PF05141201 M5 14 x 12 x 3 - 100
AP5PF06141201 M6 14 x 12 x 3 - 100
AP5PF04151001 M4 15 x 10 x 4 - 100
AP5PF05151001 M5 15 x 10 x 4 - 100
AP5PF06151001 M6 15 x 10 x 4 - 100
AP5PF06150501 M6 15 x 10 x 5 - 100
AP5PF04191601 M4 19 x 16 x 4 I 100
AP5PF05191601 M5 19 x 16 x 4 I 100
AP5PF06191601 M6 19 x 16 x 4 I 100
AP5PF08191601 M8 19 x 16 x 4 I 100
AP5PF04191901 M4 19 x 19 x 4 - 100
AP5PF05191901 M5 19 x 19 x 4 - 100
AP5PF06191901 M6 19 x 19 x 4 - 100
AP5PF08191901 M8 19 x 19 x 4 - 100
AP5PF06201301 M6 20 x 13 x 5 - 100
AP5PF08201301 M8 20 x 13 x 5 - 100
AP5PF08201401 M8 20 x 14 x 6 - 100
AP5PF08201801 M8 20 x 18 x 6 - 100
AP5PF04202001 M4 20 x 20 x 4 B 100
AP5PF05202001 M5 20 x 20 x 4 B 100
AP5PF06202001 M6 20 x 20 x 4 B 100
AP5PF05200601 M5 20 x 20 x 6 B 100
AP5PF06200601 M6 20 x 20 x 6 B 100
AP5PF08202001 M8 20 x 20 x 6 B 100
AP5PF06221501 M6 22 x 15 x 5 - 100
AP5PF06251201 M6 25 x 12 x 5 - 100
AP5PF08301801 M8 30 x 18 x 8 - 100
AP5PF10302001 M10 30 x 20 x 6 - 100
AP5PF08302501 M8 30 x 25 x 5 - 100
AP5PF08300601 M8 30 x 25 x 6 - 100
AP5PF08323001 M8 32 x 30 x 8 - 100
AP5PF06353001 M6 35 x 30 x 5 - 100
AP5PF08434301 M8 43 x 43 x 5 - 100

MATERIAL - SURFACE TREATMENT 
Zinc platetd steel 

THREADED PLATE

NOTES
Threaded plate is inserted into the slot of the profile from 
the top or the bottom.



17.19 www.gberardi.com  - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

AP5DQ

AP5DM

Item code D Slot Package
 (pcs)

AP5DQ04080601 M4 8 1.000
AP5DQ05080601 M5 8 1.000
AP5DQ06080601 M6 8 1.000
AP5DQ08080601 M8 8 1.000

Item code D Slot Package
 (pcs)

AP5DM04080601 M4 8 100
AP5DM05080601 M5 8 100
AP5DM06080601 M6 8 100
AP5DM08080601 M8 8 100

MATERIAL - SURFACE TREATMENT 
Zinc platetd steel

MATERIAL - SURFACE TREATMENT 
Zinc platetd steel 

SQUARE NUT

SQUARE NUT WITH SPRING

The nut is inserted into the slot of the profile by rota-
tion. The spring leaf allows the dowel to stay in place.

NOTES

NOTES

The nut is inserted into the slot of the profile from the 
top, the bottom or by rotation.



17.20www.gberardi.com - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

AP5DR

AP5RQ

Item code D B x L Slot Package
 (pcs)

AP5DR06082001 M6 13 x 20 8 100
AP5DR08082001 M8 13 x 20 8 100
AP5DR08082501 M8 13 x 25 8 100
AP5DR08084001 M8 13 x 40 8 100

MATERIAL - SURFACE TREATMENT 
Zinc platetd steel 

RECTANGULAR NUT

SQUARE WASHER

NOTES

Item code d L x L Slot Package
 (pcs)

AP5RQ06061001 6 10x10 6 100
AP5RQ08081301 8 13x13 8 100

MATERIAL - SURFACE TREATMENT 
Zinc platetd steel 

The nut is inserted into the slot of the profile from the 
top, the bottom or by rotation.



4. 
Inserire i cunei con utensile 
di montaggio con lievi colpi 
di martello. 

* Per i passi 1 e 2 consultare 
la tabella Montaggio per il 
montaggio degli inserti filettati.

Istruzioni di montaggio

3.
Avvitare l'inserto fino a 
poco sotto la superficie 
(0,3 – 0,7 mm).

2.*
Realizzare la filettatura prevista 
con maschio filettatore standard. 

1.* 
Forare e svasare il foro da 
maschiare o la vecchia filettatura 
(82° – 100°).

* Per il passo 1 consultare 
la tabella Smontaggio per lo 
smontaggio degli inserti filettati. 

4.
Inserire il nuovo inserto 
nel foro filettato originale. 

2.
Piegare i cunei verso 
l'interno e spezzarli.

Istruzioni di smontaggio

1.*
Forare il materiale tra i 
cunei e la filettatura interna 
fino alla profondità indicata. 

3. 
Rimuovere il vecchio inserto 
con l'estrattore per viti. 

4. 
Inserire i cunei con utensile 
di montaggio con lievi colpi 
di martello. 

* Per i passi 1 e 2 consultare 
la tabella Montaggio per il 
montaggio degli inserti filettati.

Istruzioni di montaggio

3.
Avvitare l'inserto fino a 
poco sotto la superficie 
(0,3 – 0,7 mm).

2.*
Realizzare la filettatura prevista 
con maschio filettatore standard. 

1.* 
Forare e svasare il foro da 
maschiare o la vecchia filettatura 
(82° – 100°).

* Per il passo 1 consultare 
la tabella Smontaggio per lo 
smontaggio degli inserti filettati. 

4.
Inserire il nuovo inserto 
nel foro filettato originale. 

2.
Piegare i cunei verso 
l'interno e spezzarli.

Istruzioni di smontaggio

1.*
Forare il materiale tra i 
cunei e la filettatura interna 
fino alla profondità indicata. 

3. 
Rimuovere il vecchio inserto 
con l'estrattore per viti. 

4. 
Inserire i cunei con utensile 
di montaggio con lievi colpi 
di martello. 

* Per i passi 1 e 2 consultare 
la tabella Montaggio per il 
montaggio degli inserti filettati.

Istruzioni di montaggio

3.
Avvitare l'inserto fino a 
poco sotto la superficie 
(0,3 – 0,7 mm).

2.*
Realizzare la filettatura prevista 
con maschio filettatore standard. 

1.* 
Forare e svasare il foro da 
maschiare o la vecchia filettatura 
(82° – 100°).

* Per il passo 1 consultare 
la tabella Smontaggio per lo 
smontaggio degli inserti filettati. 

4.
Inserire il nuovo inserto 
nel foro filettato originale. 

2.
Piegare i cunei verso 
l'interno e spezzarli.

Istruzioni di smontaggio

1.*
Forare il materiale tra i 
cunei e la filettatura interna 
fino alla profondità indicata. 

3. 
Rimuovere il vecchio inserto 
con l'estrattore per viti. 

4. 
Inserire i cunei con utensile 
di montaggio con lievi colpi 
di martello. 

* Per i passi 1 e 2 consultare 
la tabella Montaggio per il 
montaggio degli inserti filettati.

Istruzioni di montaggio

3.
Avvitare l'inserto fino a 
poco sotto la superficie 
(0,3 – 0,7 mm).

2.*
Realizzare la filettatura prevista 
con maschio filettatore standard. 

1.* 
Forare e svasare il foro da 
maschiare o la vecchia filettatura 
(82° – 100°).

* Per il passo 1 consultare 
la tabella Smontaggio per lo 
smontaggio degli inserti filettati. 

4.
Inserire il nuovo inserto 
nel foro filettato originale. 

2.
Piegare i cunei verso 
l'interno e spezzarli.

Istruzioni di smontaggio

1.*
Forare il materiale tra i 
cunei e la filettatura interna 
fino alla profondità indicata. 

3. 
Rimuovere il vecchio inserto 
con l'estrattore per viti. 

4. 
Inserire i cunei con utensile 
di montaggio con lievi colpi 
di martello. 

* Per i passi 1 e 2 consultare 
la tabella Montaggio per il 
montaggio degli inserti filettati.

Istruzioni di montaggio

3.
Avvitare l'inserto fino a 
poco sotto la superficie 
(0,3 – 0,7 mm).

2.*
Realizzare la filettatura prevista 
con maschio filettatore standard. 

1.* 
Forare e svasare il foro da 
maschiare o la vecchia filettatura 
(82° – 100°).

* Per il passo 1 consultare 
la tabella Smontaggio per lo 
smontaggio degli inserti filettati. 

4.
Inserire il nuovo inserto 
nel foro filettato originale. 

2.
Piegare i cunei verso 
l'interno e spezzarli.

Istruzioni di smontaggio

1.*
Forare il materiale tra i 
cunei e la filettatura interna 
fino alla profondità indicata. 

3. 
Rimuovere il vecchio inserto 
con l'estrattore per viti. 

4. 
Inserire i cunei con utensile 
di montaggio con lievi colpi 
di martello. 

* Per i passi 1 e 2 consultare 
la tabella Montaggio per il 
montaggio degli inserti filettati.

Istruzioni di montaggio

3.
Avvitare l'inserto fino a 
poco sotto la superficie 
(0,3 – 0,7 mm).

2.*
Realizzare la filettatura prevista 
con maschio filettatore standard. 

1.* 
Forare e svasare il foro da 
maschiare o la vecchia filettatura 
(82° – 100°).

* Per il passo 1 consultare 
la tabella Smontaggio per lo 
smontaggio degli inserti filettati. 

4.
Inserire il nuovo inserto 
nel foro filettato originale. 

2.
Piegare i cunei verso 
l'interno e spezzarli.

Istruzioni di smontaggio

1.*
Forare il materiale tra i 
cunei e la filettatura interna 
fino alla profondità indicata. 

3. 
Rimuovere il vecchio inserto 
con l'estrattore per viti. 

4. 
Inserire i cunei con utensile 
di montaggio con lievi colpi 
di martello. 

* Per i passi 1 e 2 consultare 
la tabella Montaggio per il 
montaggio degli inserti filettati.

Istruzioni di montaggio

3.
Avvitare l'inserto fino a 
poco sotto la superficie 
(0,3 – 0,7 mm).

2.*
Realizzare la filettatura prevista 
con maschio filettatore standard. 

1.* 
Forare e svasare il foro da 
maschiare o la vecchia filettatura 
(82° – 100°).

* Per il passo 1 consultare 
la tabella Smontaggio per lo 
smontaggio degli inserti filettati. 

4.
Inserire il nuovo inserto 
nel foro filettato originale. 

2.
Piegare i cunei verso 
l'interno e spezzarli.

Istruzioni di smontaggio

1.*
Forare il materiale tra i 
cunei e la filettatura interna 
fino alla profondità indicata. 

3. 
Rimuovere il vecchio inserto 
con l'estrattore per viti. 

4. 
Inserire i cunei con utensile 
di montaggio con lievi colpi 
di martello. 

* Per i passi 1 e 2 consultare 
la tabella Montaggio per il 
montaggio degli inserti filettati.

Istruzioni di montaggio

3.
Avvitare l'inserto fino a 
poco sotto la superficie 
(0,3 – 0,7 mm).

2.*
Realizzare la filettatura prevista 
con maschio filettatore standard. 

1.* 
Forare e svasare il foro da 
maschiare o la vecchia filettatura 
(82° – 100°).

* Per il passo 1 consultare 
la tabella Smontaggio per lo 
smontaggio degli inserti filettati. 

4.
Inserire il nuovo inserto 
nel foro filettato originale. 

2.
Piegare i cunei verso 
l'interno e spezzarli.

Istruzioni di smontaggio

1.*
Forare il materiale tra i 
cunei e la filettatura interna 
fino alla profondità indicata. 

3. 
Rimuovere il vecchio inserto 
con l'estrattore per viti. 

17.21 www.gberardi.com  - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

KP039

d

Stop pin

D

H

MATERIAL - SURFACE TREATMENT 
AC (Steel) phosphated 
AISI303 (Stainless steel) 
 
USE 
Suitable for use with various materials (even heavy 
metals and castings) for reuse and/or repair of damaged, 
lacerated, and seized threaded holes, also allowing the 
recovery of valuable products. 
  
NOTES 
d<M8: have two stopper pins 
d>M6: have four stopper pins 
 

1. Drill and countersink the hole to be 
tapped or the old thread (82° - 100°)

3. Screw in the insert to just below the 
surface (0,3 - 0,7 mm)

2. Create the required thread with a 
standard male threader.

4. Insert the wedges with the assembly 
tool using a light tap with a hammer.

Assembly instructions

1. Drill the material between the wedges and 
the internal thread up to the indicated depth.

3. Remove the old insert with the screw 
extractor.

2. Bend the wedges towards the inside 
and break them off.

4. Place the new insert in the original 
threaded hole.

Dismantling instructions

THREADED INSERT

Code 
AC phosphated

Code 
AISI303

d
(6H)

D
(6g)

H
(±0,25)

Assembly Dismantling
Diameter 

tip 
drilling

Diameter 
counter-

sink 
+0,25

Diameter 
male

Depth 
thread
(min)

Code 
tool

Diameter 
tip 

drilling

Depth 
drilling

Package
(pcs)

- KP0398103001 M3 M5 4,25 4,4 5,1 M5 5,5 - 3,5 2,25 1
- KP0398104001 M4 M6 x 0,75 5,25 5,5 6,1 M6 x 0,75 6,5 - 4,6 2,5 1

KP039805 KP0398105 M5 M8 8 6,9 8,3 M8 9,5 KP0398805 5,5 4 1
KP039806 KP0398106 M6 M10 x 1,25 10 8,8 10,3 M10 x 1,25 11,5 KP0398806 7,5 4,8 1
KP039808 KP0398108 M8 M12 x 1,25 12 10,8 12,3 M12 x 1,25 13,5 KP0398808 9,5 4,8 1
KP039808X1 KP0398108X1 M8 x 1 M12 x 1,25 12 10,8 12,3 M12 x 1,25 13,5 KP0398808 9,5 4,8 1
KP039810 KP0398110 M10 M14 x 1,5 14 12,8 14,3 M14 x 1,5 15,5 KP0398810 11,5 4,8 1
KP039810X125 KP0398110X125 M10 x 1,25 M14 x 1,5 14 12,8 14,3 M14 x 1,5 15,5 KP0398810 11,5 4,8 1
KP039812 KP0398112 M12 M16 x 1,5 16 14,8 16,3 M16 x 1,5 17,5 KP0398812 13,5 4,8 1
KP039812X125 KP0398112X125 M12 x 1,25 M16 x 1,5 16 14,8 16,3 M16 x 1,5 17,5 KP0398812 13,5 4,8 1



4. 
Inserire i cunei con utensile 
di montaggio con lievi colpi 
di martello. 

* Per i passi 1 e 2 consultare 
la tabella Montaggio per il 
montaggio degli inserti filettati.

Istruzioni di montaggio

3.
Avvitare l'inserto fino a 
poco sotto la superficie 
(0,3 – 0,7 mm).

2.*
Realizzare la filettatura prevista 
con maschio filettatore standard. 

1.* 
Forare e svasare il foro da 
maschiare o la vecchia filettatura 
(82° – 100°).

* Per il passo 1 consultare 
la tabella Smontaggio per lo 
smontaggio degli inserti filettati. 

4.
Inserire il nuovo inserto 
nel foro filettato originale. 

2.
Piegare i cunei verso 
l'interno e spezzarli.

Istruzioni di smontaggio

1.*
Forare il materiale tra i 
cunei e la filettatura interna 
fino alla profondità indicata. 

3. 
Rimuovere il vecchio inserto 
con l'estrattore per viti. 

4. 
Inserire i cunei con utensile 
di montaggio con lievi colpi 
di martello. 

* Per i passi 1 e 2 consultare 
la tabella Montaggio per il 
montaggio degli inserti filettati.

Istruzioni di montaggio

3.
Avvitare l'inserto fino a 
poco sotto la superficie 
(0,3 – 0,7 mm).

2.*
Realizzare la filettatura prevista 
con maschio filettatore standard. 

1.* 
Forare e svasare il foro da 
maschiare o la vecchia filettatura 
(82° – 100°).

* Per il passo 1 consultare 
la tabella Smontaggio per lo 
smontaggio degli inserti filettati. 

4.
Inserire il nuovo inserto 
nel foro filettato originale. 

2.
Piegare i cunei verso 
l'interno e spezzarli.

Istruzioni di smontaggio

1.*
Forare il materiale tra i 
cunei e la filettatura interna 
fino alla profondità indicata. 

3. 
Rimuovere il vecchio inserto 
con l'estrattore per viti. 

4. 
Inserire i cunei con utensile 
di montaggio con lievi colpi 
di martello. 

* Per i passi 1 e 2 consultare 
la tabella Montaggio per il 
montaggio degli inserti filettati.

Istruzioni di montaggio

3.
Avvitare l'inserto fino a 
poco sotto la superficie 
(0,3 – 0,7 mm).

2.*
Realizzare la filettatura prevista 
con maschio filettatore standard. 

1.* 
Forare e svasare il foro da 
maschiare o la vecchia filettatura 
(82° – 100°).

* Per il passo 1 consultare 
la tabella Smontaggio per lo 
smontaggio degli inserti filettati. 

4.
Inserire il nuovo inserto 
nel foro filettato originale. 

2.
Piegare i cunei verso 
l'interno e spezzarli.

Istruzioni di smontaggio

1.*
Forare il materiale tra i 
cunei e la filettatura interna 
fino alla profondità indicata. 

3. 
Rimuovere il vecchio inserto 
con l'estrattore per viti. 

4. 
Inserire i cunei con utensile 
di montaggio con lievi colpi 
di martello. 

* Per i passi 1 e 2 consultare 
la tabella Montaggio per il 
montaggio degli inserti filettati.

Istruzioni di montaggio

3.
Avvitare l'inserto fino a 
poco sotto la superficie 
(0,3 – 0,7 mm).

2.*
Realizzare la filettatura prevista 
con maschio filettatore standard. 

1.* 
Forare e svasare il foro da 
maschiare o la vecchia filettatura 
(82° – 100°).

* Per il passo 1 consultare 
la tabella Smontaggio per lo 
smontaggio degli inserti filettati. 

4.
Inserire il nuovo inserto 
nel foro filettato originale. 

2.
Piegare i cunei verso 
l'interno e spezzarli.

Istruzioni di smontaggio

1.*
Forare il materiale tra i 
cunei e la filettatura interna 
fino alla profondità indicata. 

3. 
Rimuovere il vecchio inserto 
con l'estrattore per viti. 

4. 
Inserire i cunei con utensile 
di montaggio con lievi colpi 
di martello. 

* Per i passi 1 e 2 consultare 
la tabella Montaggio per il 
montaggio degli inserti filettati.

Istruzioni di montaggio

3.
Avvitare l'inserto fino a 
poco sotto la superficie 
(0,3 – 0,7 mm).

2.*
Realizzare la filettatura prevista 
con maschio filettatore standard. 

1.* 
Forare e svasare il foro da 
maschiare o la vecchia filettatura 
(82° – 100°).

* Per il passo 1 consultare 
la tabella Smontaggio per lo 
smontaggio degli inserti filettati. 

4.
Inserire il nuovo inserto 
nel foro filettato originale. 

2.
Piegare i cunei verso 
l'interno e spezzarli.

Istruzioni di smontaggio

1.*
Forare il materiale tra i 
cunei e la filettatura interna 
fino alla profondità indicata. 

3. 
Rimuovere il vecchio inserto 
con l'estrattore per viti. 

4. 
Inserire i cunei con utensile 
di montaggio con lievi colpi 
di martello. 

* Per i passi 1 e 2 consultare 
la tabella Montaggio per il 
montaggio degli inserti filettati.

Istruzioni di montaggio

3.
Avvitare l'inserto fino a 
poco sotto la superficie 
(0,3 – 0,7 mm).

2.*
Realizzare la filettatura prevista 
con maschio filettatore standard. 

1.* 
Forare e svasare il foro da 
maschiare o la vecchia filettatura 
(82° – 100°).

* Per il passo 1 consultare 
la tabella Smontaggio per lo 
smontaggio degli inserti filettati. 

4.
Inserire il nuovo inserto 
nel foro filettato originale. 

2.
Piegare i cunei verso 
l'interno e spezzarli.

Istruzioni di smontaggio

1.*
Forare il materiale tra i 
cunei e la filettatura interna 
fino alla profondità indicata. 

3. 
Rimuovere il vecchio inserto 
con l'estrattore per viti. 

4. 
Inserire i cunei con utensile 
di montaggio con lievi colpi 
di martello. 

* Per i passi 1 e 2 consultare 
la tabella Montaggio per il 
montaggio degli inserti filettati.

Istruzioni di montaggio

3.
Avvitare l'inserto fino a 
poco sotto la superficie 
(0,3 – 0,7 mm).

2.*
Realizzare la filettatura prevista 
con maschio filettatore standard. 

1.* 
Forare e svasare il foro da 
maschiare o la vecchia filettatura 
(82° – 100°).

* Per il passo 1 consultare 
la tabella Smontaggio per lo 
smontaggio degli inserti filettati. 

4.
Inserire il nuovo inserto 
nel foro filettato originale. 

2.
Piegare i cunei verso 
l'interno e spezzarli.

Istruzioni di smontaggio

1.*
Forare il materiale tra i 
cunei e la filettatura interna 
fino alla profondità indicata. 

3. 
Rimuovere il vecchio inserto 
con l'estrattore per viti. 

4. 
Inserire i cunei con utensile 
di montaggio con lievi colpi 
di martello. 

* Per i passi 1 e 2 consultare 
la tabella Montaggio per il 
montaggio degli inserti filettati.

Istruzioni di montaggio

3.
Avvitare l'inserto fino a 
poco sotto la superficie 
(0,3 – 0,7 mm).

2.*
Realizzare la filettatura prevista 
con maschio filettatore standard. 

1.* 
Forare e svasare il foro da 
maschiare o la vecchia filettatura 
(82° – 100°).

* Per il passo 1 consultare 
la tabella Smontaggio per lo 
smontaggio degli inserti filettati. 

4.
Inserire il nuovo inserto 
nel foro filettato originale. 

2.
Piegare i cunei verso 
l'interno e spezzarli.

Istruzioni di smontaggio

1.*
Forare il materiale tra i 
cunei e la filettatura interna 
fino alla profondità indicata. 

3. 
Rimuovere il vecchio inserto 
con l'estrattore per viti. 

17.22www.gberardi.com - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

KP040

d

Stop pin

D

Self-locking pin
of the internal thread

H
1

H

Code 
AISI303

d
(6H)

D
(6g)

H1
(±0,25)

H
(±0,25)

Assembly Dismantling
Diameter 

tip 
drilling

Diameter 
countersink 

+0,25

Diameter 
male

Depth 
thread
(min)

Code 
tool

Diameter 
tip 

drilling

Depth 
drilling

Package
(pcs)

KP0401105 M5 M8 4 8 6,9 8,3 M8 9,5 KP0398805 5,5 4 1
KP0401106 M6 M10 x 1,25 5 10 8,8 10,3 M10 x 1,25 11,5 KP0398806 7,5 4,8 1
KP0401108 M8 M12 x 1,25 6 12 10,8 12,3 M12 x 1,25 13,5 KP0398808 9,5 4,8 1
KP0401110 M10 M14 x 1,5 7 14 12,8 14,3 M14 x 1,5 15,5 KP0398810 11,5 4,8 1
KP0401112 M12 M16 x 1,5 8 16 14,8 16,3 M16 x 1,5 17,5 KP0398812 13,5 4,8 1

MATERIAL 
AISI303 (Stainless steel) 
 
USE 
Suitable for use with various materials (even heavy 
metals and castings) for reuse and/or repair of damaged, 
lacerated, and seized threaded holes, also allowing the 
recovery of valuable products. 
  
NOTESS 
d<M8: have two stopper pins 
d>M6: have four stopper pins

1. Drill and countersink the hole to be 
tapped or the old thread (82° - 100°)

3. Screw in the insert to just below the 
surface (0,3 - 0,7 mm)

2. Create the required thread with a 
standard male threader.

4. Insert the wedges with the assembly 
tool using a light tap with a hammer.

Assembly instructions

1. Drill the material between the wedges and 
the internal thread up to the indicated depth.

3. Remove the old insert with the screw 
extractor.

2. Bend the wedges towards the inside 
and break them off.

4. Place the new insert in the original 
threaded hole.

Dismantling instructions

SELF-LOCKING THREADED INSERT



H

D d

17.23 www.gberardi.com  - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

BS561

Code 
AC galvanized white

Code
AISI303

d
(6H)

D H Hole depth
(min)

Package
(pcs)

BS56100400601 BS66100400600 M4 x 0,7 6,5 x 0,8 6 8 100
BS56100400801 BS66100400800 M4 x 0,7 6,5 x 0,8 8 10 100
BS56100500701 BS66100500700 M5 x 0,8 8 x 1 7 9 100
BS56100501001 BS66100501000 M5 x 0,8 8 x 1 10 13 100
BS56100600001 BS66100600000 M6 x 1 10 x 1,25 8 10 100
BS56100601201 - M6 x 1 10 x 1,25 12 15 100
BS56100800901 BS66100800900 M8 x 1,25 12 x 1,5 9 11 100
BS56100801401 - M8 x 1,25 12 x 1,5 14 17 100
BS56101001001 BS66101000000 M10 x 1,5 14 x 1,5 10 13 100
BS56101001801 - M10 x 1,5 14 x 1,5 18 22 100

MATERIAL - SURFACE TREATMENT 
AC (Steel) HV360 white galvanized 
AISI303 (Stainless steel) 
 
USE 
Plastic. 
Hard and very hard metal.

SELF-TAPPING THREADED INSERT



D
d

H

17.24www.gberardi.com - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

BML0C

Code d
(F7)

D
(n6)

H Package
(pcs)

BML0L00205000 2 ÷ 2,6 5 9 10
BML0000300000 2,7 ÷ 3,3 6 8 10
BML0030612000 2,7 ÷ 3,3 6 12 10
BML0C00400000 3,3 ÷ 4 7 8 10
BML0C00500000 4,1 ÷ 5 8 8 10
BML0C00600000 5,1 ÷ 6 10 10 10
BML0L06101600 5,1 ÷ 6 10 16 10
BML0C00601200 6,1 ÷ 8 12 10 10
BML0071216000 6,1 ÷ 8 12 16 10
BML0C01001500 8,1 ÷ 10 15 12 10
BML0L00900000 8,1 ÷ 10 15 20 10
BML0C01000000 10,1 ÷ 12 18 12 10
BML0101520000 10,1 ÷ 12 18 20 10
BML0C01200000 12,1 ÷ 15 22 16 10
BML0L01200000 12,1 ÷ 15 22 28 10
BML0C01600000 15,25 ÷ 18 26 16 10
BML0162628000 15,25 ÷ 18 26 28 10
BML0C01800000 18,25 ÷ 22 30 20 10
BML0223036000 18,25 ÷ 22 30 36 10
BML0C02200000 22,25 ÷ 26 35 20 10
BML0L02500000 22,25 ÷ 26 35 36 10
BML0C03200000 30,25 ÷ 35 48 25 10
BML0L03000000 30,25 ÷ 35 48 45 10
BML0C03800000 35,5 ÷ 42 55 30 10
BML0L04800000 42,5 ÷ 48 62 56 10
BML0C05000000 48,5 ÷ 55 70 30 10

STANDARD 
DIN 179/A 
 
MATERIAL 
AC (Steel) HV10 rectified

DRILLING GUIDE BUSH



D1
d

H1H

D

17.25 www.gberardi.com  - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

BMC0C

Code d
(F7)

D
(n6)

D1 H H1 Package
(pcs)

BMC0C20500600 2 ÷ 2,6 5 8 6 4 10
BMC0L20500900 2 ÷ 2,6 5 8 9 7 10
BMC0C30300800 2,7 ÷ 3,3 6 9 8 5,5 10
BMC0C0050800 4,1 ÷ 5 8 11 8 5,5 10
BMC0C00601000 5,1 ÷ 6 10 13 10 7 10
BMC0C60201000 6,1 ÷ 8 12 15 10 7 10
BMC0C00800000 6,1 ÷ 8 12 15 16 13 10
BMC0C01000000 8,1 ÷ 10 15 18 12 9 / 8 10
BMC0L10200000 8,1 ÷ 10 15 18 20 17 / 16 10
BMC0C01001200 10,1 ÷ 12 18 22 12 8 10
BMC0L01000000 10,1 ÷ 12 18 22 20 16 10
BMC0C01300000 12,1 ÷ 15 22 26 16 12 10
BMC0L01400000 12,1 ÷ 15 22 26 28 24 10
BMC0C01702800 15,25 ÷ 18 26 30 28 24 1
BMC0C0200000 18,25 ÷ 22 30 34 20 15 1

BMC0C02203600 18,25 ÷ 22 30 34 36 31 1
BMC0C02500000 22,25 ÷ 26 35 39 20 15 1
BMC0C03003600 26,25 ÷ 30 42 46 36 31 1
BMC0L03500000 35,5 ÷ 42 55 59 45 40 1
BMC0L03000000 35,5 ÷ 42 55 59 56 51 1

STANDARD 
DIN 172/A 
 
MATERIAL 
AC (Steel) HV10 rectified

FLANGED DRILLING GUIDE BUSH



DIN 705 form “A”

In AISI 304 STAINLESS STEEL

SM

Dd

d1

H

d2

17.26www.gberardi.com - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

AN55A

Code 
AC

Code 
AC galvanized white

Code 
AISI304

d
(H8)

D 
(H13)

H 
(js14)

d1 d2 SM Number of 
grub screws 

included
DIN 553

Number of 
grub screws 

included
DIN 914

Package 
(pcs)

AN55A00415300 AN55A00415301 - 4 8 5 M2,5 No 0,6 x 45° 1 - 25
AN55A00515300 AN55A00515301 5 10 6 M3 No 0,6 x 45° 1 - 25

. . AN65A00511400 5 10 6 M3 No 0,6 x 45° - 1 100
- - AN65A00611400 6 12 8 M4 No 0,8 x 45° - 1 100
- - AN65A00620000 6 12 8 M4 M4 0,8 x 45° - - 50

AN55A00615300 AN55A00615301 - 6 12 8 M4 No 0,8 x 45° 1 - 25
- - AN65A00811400 8 16 8 M4 No 0,8 x 45° - 1 100

AN55A00815300 AN55A00815301 - 8 16 8 M4 No 0,8 x 45° 1 - 25
- - AN65A00820000 8 16 8 M4 M4 0,8 x 45° - - 50

AN55A00915300 AN55A00915301 - 9 18 10 M4 No 1 x 45° 1 - 25
- - AN65A00911400 9 18 10 M4 No 1 x 45° - 1 100

AN55A01015300 AN55A01015301 - 10 20 10 M5 No 1 x 45° 1 - 25
- - AN65A01011400 10 20 10 M5 No 1 x 45° - 1 50
- - AN65A01020000 10 20 10 M5 M5 1 x 45° - - 50

AN55A01215300 AN55A01215301 - 12 22 12 M6 No 1,2 x 45° 1 - 10
- - AN65A01211400 12 22 12 M6 No 1,2 x 45° - 1 50
- - AN65A01220000 12 22 12 M6 M6 1,2 x 45° - - 50

AN55A01315300 - - 13 22 12 M6 No 1,2 x 45° 1 - 10
- - AN65A01311400 13 22 12 M6 No 1,2 x 45° - 1 50

AN55A01415300 AN55A01415301 - 14 25 12 M6 No 1,2 x 45° 1 - 10
- - AN65A01411400 14 25 12 M6 No 1,2 x 45° - 1 50

AN55A01515300 AN55A01515301 - 15 25 12 M6 No 1,2 x 45° 1 - 10
- - AN65A01511400 15 25 12 M6 No 1,2 x 45° - 1 50
- - AN65A01520000 15 25 12 M6 M6 1,2 x 45° - - 50

AN55A01615300 AN55A01615301 - 16 25 12 M6 No 1,2 x 45° 1 - 10
- - AN65A01611400 16 25 12 M6 No 1,2 x 45° - 1 50
- - AN65A01620000 16 25 12 M6 M6 1,2 x 45° - - 50
- AN55A01715301 - 17 28 12 M6 No 1,2 x 45° 1 - 10
- - AN65A01720000 17 28 12 M6 M6 1,2 x 45° - - 50

STANDARD 
DIN 705/A 
 
MATERIAL - SURFACE TREATMENT 
AC (Steel)
AC (Steel) galvanized white 
AISI304 (Stainless steel) 
 
ACCESSORIES 
Clamping grub screw included only where indicated in 
the table. 
 

UNIFIED LOCKING RING



DIN 705 form “A”

In AISI 304 STAINLESS STEEL

SM

Dd

d1

H

d2

17.27 www.gberardi.com  - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

AN55A

STANDARD 
DIN 705/A 
 
MATERIAL - SURFACE TREATMENT 
AC (Steel)
AC (Steel) galvanized white 
AISI304 (Stainless steel) 
 
ACCESSORIES 
Clamping grub screw included only where indicated in 
the table. 
 

Code 
AC

Code 
AC galvanized white

Code 
AISI304

d
(H8)

D 
(H13)

H 
(js14)

d1 d2 SM Number of 
grub screws 

included
DIN 553

Number of 
grub screws 

included
DIN 914

Package 
(pcs)

AN55A01815300 AN55A01815301 - 18 32 14 M6 No 1,4 x 45° 1 - 10
- - AN65A01811400 18 32 14 M6 No 1,4 x 45° - 1 25

AN55A02015300 AN55A02015301 - 20 32 14 M6 No 1,4 x 45° 1 - 10
- - AN65A02011400 20 32 14 M6 No 1,4 x 45° - 1 25
- - AN65A02020000 20 32 14 M6 M6 1,4 x 45° - - 50

AN55A02215300 AN55A02215301 - 22 36 14 M6 No 1,4 x 45° 1 - 10
- - AN65A02211400 22 36 14 M6 No 1,4 x 45° - 1 25

AN55A02415300 - - 24 40 16 M8 No 1,6 x 45° 1 - 10
- - AN65A02411400 24 40 16 M8 No 1,6 x 45° - 1 25

AN55A02515300 AN55A02515301 - 25 40 16 M8 No 1,6 x 45° 1 - 10
- - AN65A02511400 25 40 16 M8 No 1,6 x 45° - 1 25
- - AN65A02520000 25 40 16 M8 M8 1,6 x 45° - - 50

AN55A02615300 - - 26 40 16 M8 No 1,6 x 45° 1 - 10
AN55A02815300 AN55A02815301 - 28 45 16 M8 No 1,6 x 45° 1 - 10

- - AN65A02811400 28 45 16 M8 No 1,6 x 45° - 1 25
AN55A03015300 AN55A03015301 - 30 45 16 M8 No 1,6 x 45° 1 - 10

- - AN65A03011400 30 45 16 M8 No 1,6 x 45° - 1 25
- - AN65A03020000 30 45 16 M8 M8 1,6 x 45° - - 25

AN55A03215300 AN55A03215301 - 32 50 16 M8 No 1,6 x 45° 1 - 10
- - AN65A03211400 32 50 16 M8 No 1,6 x 45° - 1 10

AN55A03415300 - - 34 50 16 M8 No 1,6 x 45° 1 - 5
- - AN65A03411400 34 50 16 M8 No 1,6 x 45° - 1 10

AN55A03515300 AN55A03515301 - 35 56 16 M8 No 1,6 x 45° 1 - 5
- - AN65A03511400 35 56 16 M8 No 1,6 x 45° - 1 10
- - AN65A03520000 35 56 16 M8 M8 1,6 x 45° - - 25

AN55A03615300 AN55A03615301 - 36 56 16 M8 No 1,6 x 45° 1 - 5
- - AN65A03611400 36 56 16 M8 No 1,6 x 45° - 1 10

AN55A03815300 - - 38 56 16 M8 No - 1 - 5
- - AN65A03811400 38 56 16 M8 No - - 1 10

UNIFIED LOCKING RING



DIN 705 form “A”

In AISI 304 STAINLESS STEEL

SM

Dd

d1

H

d2

17.28www.gberardi.com - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

AN55A

Code 
AC

Code 
AC galvanized white

Code 
AISI304

d
(H8)

D 
(H13)

H 
(js14)

d1 d2 SM Number of 
grub screws 

included
DIN 553

Number of 
grub screws 

included
DIN 914

Package 
(pcs)

AN55A04015300 AN55A04015301 - 40 63 18 M10 No 1,8 x 45° 1 - 5
- - AN65A04011400 40 63 18 M10 No 1,8 x 45° - 1 10
- - AN65A04020000 40 63 18 M10 M10 1,8 x 45° - - 25

AN55A04215300 AN55A04215301 - 42 63 18 M10 No 1,8 x 45° 1 - 5
AN55A04515300 AN55A04515301 - 45 70 18 M10 No 1,8 x 45° 1 - 1

- - AN65A04511400 45 70 18 M10 No 1,8 x 45° - 1 5
AN55A05015300 AN55A05015301 - 50 80 18 M10 No 1,8 x 45° 1 - 1

- - AN65A05020000 50 80 18 M10 M10 1,8 x 45° - - 25
AN55A05515300 AN55A05515301 - 55 80 18 M10 No 1,8 x 45° 1 - 1
AN55A06015300 AN55A06015301 - 60 90 20 M10 No 2 x 45° 1 - 1

- - AN65A06011400 60 90 20 M10 No 2 x 45° - 1 5
AN55A06515300 AN55A06515301 - 65 100 20 M10 No 2 x 45° 1 - 1
AN55A07015300 AN55A07015301 - 70 100 20 M10 No 2 x 45° 1 - 1
AN55A07521400 AN55A07521401 - 75 110 22 M12 M12 - - 2 1
AN55A08021400 AN55A08021401 - 80 110 22 M12 M12 - - 2 1
AN55A08521400 - - 85 125 22 M12 M12 - - 2 1
AN55A09021400 AN55A09021401 - 90 125 22 M12 M12 - - 2 1
AN55A10021400 - - 100 140 25 M12 M12 - - 2 1
AN55A11021400 - - 110 160 25 M12 M12 - - 2 1
AN55A12021400 - - 120 160 25 M12 M12 - - 2 1
AN55A12521400 - - 125 180 28 M16 M16 - - 2 1
AN55A13021400 - - 130 180 28 M16 M16 - - 2 1
AN55A14021400 - - 140 200 28 M16 M16 - - 2 1

STANDARD 
DIN 705/A 
 
MATERIAL - SURFACE TREATMENT 
AC (Steel)
AC (Steel) galvanized white 
AISI304 (Stainless steel) 
 
ACCESSORIES 
Clamping grub screw included only where indicated in 
the table. 
 

UNIFIED LOCKING RING



DIN 705 form “C”

In STEEL acc.to UNI EN 10277/3

SM

d3

Dd

d1

H

d2

17.29 www.gberardi.com  - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

AN55C

Code 
AC burnished

Code 
AC galvanized 

white

d 
(H8)

D 
(H13)

H 
(js14)

d1 d2 d3 
(H11)

SM A
(±0,5)

Number of 
grub screws 

included
DIN 553

Number of 
grub screws 

included
DIN 914

Package 
(pcs)

- AN55C00320001 3 8 5 M2,5 M2,5 - 0,6 x 45° 135° - - 200
AN55C00520003 AN55C00520001 5 10 6 M3 M3 - 0,6 x 45° 135° - - 200
AN55C00620003 AN55C00620001 6 12 8 M4 M4 1,5 0,8 x 45° 135° - - 200
AN55C00820003 AN55C00820001 8 16 8 M4 M4 1,5 0,8 x 45° 135° - - 200
AN55C01020003 AN55C01020001 10 20 10 M5 M5 3 1 x 45° 135° - - 200
AN55C01220003 AN55C01220001 12 22 12 M6 M6 4 1,2 x 45° 135° - - 100
AN55C01420003 AN55C01420001 14 25 12 M6 M6 4 1,2 x 45° 135° - - 100
AN55C01520003 AN55C01520001 15 25 12 M6 M6 4 1,2 x 45° 135° - - 100
AN55C01620003 AN55C01620001 16 25 12 M6 M6 4 1,2 x 45° 135° - - 100
AN55C01720003 AN55C01720001 17 28 12 M6 M6 4 1,2 x 45° 135° - - 100
AN55C01820003 AN55C01820001 18 32 14 M6 M6 4 1,2 x 45° 135° - - 100
AN55C01920003 AN55C01920001 19 32 14 M6 M6 4 1,2 x 45° 135° - - 100
AN55C02020003 AN55C02020001 20 32 14 M6 M6 4 1,2 x 45° 135° - - 100
AN55C02520003 AN55C02520001 25 40 16 M8 M8 6 1,6 x 45° 135° - - 100
AN55C02820003 AN55C02820001 28 45 16 M8 M8 6 1,6 x 45° 135° - - 50
AN55C03020003 AN55C03020001 30 45 16 M8 M8 6 1,6 x 45° 135° - - 50
AN55C03220003 AN55C03220001 32 50 16 M8 M8 6 1,6 x 45° 135° - - 50
AN55C03520003 AN55C03520001 35 56 16 M8 M8 6 1,6 x 45° 135° - - 50
AN55C04020003 AN55C04020001 40 63 18 M10 M10 8 1,8 x 45° 135° - - 25
AN55C04520003 AN55C04520001 45 70 18 M10 M10 8 1,8 x 45° 135° - - 25
AN55C05020003 AN55C05020001 50 80 18 M10 M10 8 1,8 x 45° 135° - - 25
AN55C05520003 AN55C05520001 55 80 18 M10 M10 8 1,8 x 45° 135° - - 25
AN55C06020003 AN55C06020001 60 90 20 M10 M10 8 1,8 x 45° 135° - - 25
AN55C06520003 AN55C06520001 65 100 20 M10 M10 8 1,8 x 45° 135° - - 25
AN55C07020003 AN55C07020001 70 100 20 M10 M10 8 1,8 x 45° 135° - - 25

STANDARD 
DIN 705/C 
 
MATERIAL - SURFACE TREATMENT 
AC (Steel) burnished
AC (Steel) galvanized white 
 
ACCESSORIES 
Clamping grub screw included only where indicated in 
the table. 
 

PIN HOLE UNIFIED LOCKING RING



17.30www.gberardi.com - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

AN5R1

In STEEL acc.to UNI EN 10277/3

CFBR

h

H

DD
1 d

A

A

B = Tightening screw DIN 912

Code 
AC burnished

d
(H8)

D
(H13)

H 
(j14)

D1 h B B
Tightening torque 

(Nm)

Package 
(pcs)

AN5R101000003 10 32 11 15 1 M4 x 12 3,1 50
AN5R101500003 15 40 13 20 1 M4 x 12 3,1 50
AN5R102000003 20 45 13 20 1 M4 x 12 3,1 50
AN5R102500003 25 50 13 20 1 M4 x 12 3,1 25
AN5R103000003 30 55 14 38 1,2 M6 x 16 10,5 25
AN5R103500003 35 63 17 45 1,2 M6 x 16 10,5 25
AN5R104000003 40 70 17 45 1,2 M6 x 16 10,5 25
AN5R104500003 45 80 20 55 1,5 M8 x 25 25 25
AN5R105000003 50 80 20 60 1,5 M8 x 25 25 25

MATERIAL 
AC (Steel) 
 
SURFACE TREATMENT 
Burnished 
 
ACCESSORIES 
Clamping screw always included. 

1T RADIAL LOCKING RING



17.31 www.gberardi.com  - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

AN5R2

In STEEL acc.to UNI EN 10277/3

CFBR-2
A

A

d D

H

Reference insertion for mounting

B = Tightening screw DIN 912

Code 
AC burnished

d
(H8)

D 
(H13)

H 
(j14)

B B
Tightening torque 

(Nm)

Package 
(pcs)

AN5R201000003 10 32 10 M4 x 12 3,1 50
AN5R201500003 15 40 12 M5 x 14 6,2 50
AN5R202000003 20 45 12 M5 x 14 6,2 50
AN5R202500003 25 50 12 M5 x 14 6,2 25
AN5R203000003 30 55 12 M5 x 14 6,2 25
AN5R203500003 35 63 12 M5 x 14 6,2 25
AN5R204000003 40 70 14 M6 x 25 10,5 25
AN5R204500003 45 80 14 M6 x 25 10,5 25
AN5R205000003 50 80 14 M6 x 25 10,5 25

MATERIAL 
AC (Steel) 
 
SURFACE TREATMENT 
Burnished 
 
ACCESSORIES 
Clamping screw always included. 

2T RADIAL LOCKING RING



DG

G1

d V

A

l

d1
SW D1

D2

S

H
1
H

H
2

dk

17.32www.gberardi.com - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

SN51F

Code Bore d 
(H7)

d1 
(6H)

Thread 
direction

dk D D2 D1 G G1 H H1 H2 l S V SW A Radial 
static 
load

(DaN) *

Package 
(pcs)

SN51F0040ADS6 8 - 10 5 M4 Right 11,11 18 9 11 8 6 36 27 10 10 4 7,7 9 13° 600 30
SN51F0040ASS6 8 - 10 5 M4 Left 11,11 18 9 11 8 6 36 27 10 10 4 7,7 9 13° 600 30
SN51F0050ADS6 - 5 M5 Right 11,11 18 9 11 8 6 36 27 10 10 4 7,7 9 13° 600 30
SN51F0050ASS6 - 5 M5 Left 11,11 18 9 11 8 6 36 27 10 10 4 7,7 9 13° 600 30
SN51F0060ADS6 12 - 16 6 M6 Right 12,7 20 10 13 9 6,75 40 30 11 12 5 8,9 11 13° 700 50
SN51F0060ASS6 12 - 16 6 M6 Left 12,7 20 10 13 9 6,75 40 30 11 12 5 8,9 11 13° 700 50
SN51F0080ADS6 20 8 M8 Right 15,87 24 12,5 16 12 9 48 36 13 16 5 10,4 14 13° 1.200 40
SN51F0080ASS6 20 8 M8 Left 15,87 24 12,5 16 12 9 48 36 13 16 5 10,4 14 13° 1.200 40
SN51F0100ADS6 - 10 M10 Right 19,05 28 15 19 14 10,5 57 43 15 20 6,5 12,9 17 13° 1.400 30
SN51F0100ASS6 - 10 M10 Left 19,05 28 15 19 14 10,5 57 43 15 20 6,5 12,9 17 13° 1.400 30
SN51F0100BDS6 25 - 32 10 M10 x 1,25 Right 19,05 28 15 19 14 10,5 57 43 15 20 6,5 12,9 17 13° 1.400 30
SN51F0100BSS6 25 - 32 10 M10 x 1,25 Left 19,05 28 15 19 14 10,5 57 43 15 20 6,5 12,9 17 13° 1.400 30
SN51F0120ADS6 - 12 M12 Right 22,22 32 17,5 22 16 12 66 50 17 22 6,5 15,4 19 13° 1.900 15
SN51F0120ASS6 - 12 M12 Left 22,22 32 17,5 22 16 12 66 50 17 22 6,5 15,4 19 13° 1.900 15
SN51F0120BDS6 40 - 50 12 M12 x 1,25 Right 22,22 32 17,5 22 16 12 66 50 17 22 6,5 15,4 19 13° 1.900 15
SN51F0120BSS6 40 - 50 12 M12 x 1,25 Left 22,22 32 17,5 22 16 12 66 50 17 22 6,5 15,4 19 13° 1.900 15
SN51F0140ADS6 - 14 M14 Right 25,4 36 20 25 19 13,5 75 57 19 25 8 16,8 22 15° 3.600 10
SN51F0140ASS6 - 14 M14 Left 25,4 36 20 25 19 13,5 75 57 19 25 8 16,8 22 15° 3.600 10
SN51F0160ADS6 - 16 M16 Right 28,57 42 22 27 21 15 85 64 23 28 8 19,3 22 15° 4.800 10
SN51F0160ASS6 - 16 M16 Left 28,57 42 22 27 21 15 85 64 23 28 8 19,3 22 15° 4.800 10
SN51F0160BDS6 50 - 63 16 M16 x 1,5 Right 28,57 42 22 27 21 15 85 64 23 28 8 19,3 22 15° 4.800 10
SN51F0160BSS6 50 - 63 16 M16 x 1,5 Left 28,57 42 22 27 21 15 85 64 23 28 8 19,3 22 15° 4.800 10
SN51F0180BDS6 - 18 M18 x 1,5 Right 31,75 46 25 31 23 16,5 94 71 25 32 10 21,8 27 15° 5.100 10
SN51F0180BSS6 - 18 M18 x 1,5 Left 31,75 46 25 31 23 16,5 94 71 25 32 10 21,8 27 15° 5.100 10

STANDARD
ISO12240-4/K

MATERIAL - SURFACE TREATMENT 
Body:
 
Sphere: 
Bushing: 

COUPLING 
Self-lubricating Steel-Bronze 

USE 
Precision mechanics, high speed.

NOTES
* 1 DaN (decanewton) = 1.02 Kgf (kilogram-force).

(d<14) 11SMnPb30 (Steel) white galvanized 
(d>12) C40 (Steel) galvanized white
100Cr6 (Steel) lubricated rectified tempered
Self-lubricating sintered bronze

A-BA FEMALE JUNCTION HEAD
steel



DG

G1

d V

A

l

d1
SW D1

D2

S

H
1
H

H
2

dk

17.33 www.gberardi.com  - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

SN51F

Code Bore d 
(H7)

d1 
(6H)

Thread 
direction

dk D D2 D5 G G1 H H1 H2 l S V SW A Radial 
static 
load

(DaN) *

Package 
(pcs)

SN51F0200ADS6 - 20 M20 Right 34,92 50 27,5 34 25 18 102 77 27 33 10 24,3 30 14° 5.200 10
SN51F0200ASS6 - 20 M20 Left 34,92 50 27,5 34 25 18 102 77 27 33 10 24,3 30 14° 5.200 10
SN51F0200BDS6 80 - 100 20 M20 x 1,5 Right 34,92 50 27,5 34 25 18 102 77 27 33 10 24,3 30 14° 5.200 10
SN51F0200BSS6 80 - 100 20 M20 x 1,5 Left 34,92 50 27,5 34 25 18 102 77 27 33 10 24,3 30 14° 5.200 10
SN51F0220BDS6 - 22 M22 x 1,5 Right 38,1 54 30 37 28 20 111 84 29 37 12 25,8 32 15° 7.500 4
SN51F0220BSS6 - 22 M22 x 1,5 Left 38,1 54 30 37 28 20 111 84 29 37 12 25,8 32 15° 7.500 4
SN51F0240BDS6 125 25 M24 x 2 Right 42,85 60 33,5 42 31 22 124 94 32 42 12 29,5 36 15° 8.500 4
SN51F0240BSS6 125 25 M24 x 2 Left 42,85 60 33,5 42 31 22 124 94 32 42 12 29,5 36 15° 8.500 4
SN51F0270BDS6 125 30 M27 x 2 Right 50,8 70 40 50 37 25 145 110 36 51 15 34,8 41 17° 10.800 4
SN51F0270BSS6 128 30 M27 x 2 Left 50,8 70 40 50 37 25 145 110 36 51 15 34,8 41 17° 10.800 4
SN51F0300BDS6 - 30 M30 x 2 Right 50,8 70 40 50 37 25 145 110 36 51 15 34,8 41 17° 10.800 4
SN51F0300BSS6 - 30 M30 x 2 Left 50,8 70 40 50 37 25 145 110 36 51 15 34,8 41 17° 10.800 4
SN51F0360UDS6 160 - 200 35 M36 x 2 Right 57,15 80 46 58 43 28 165 125 41 56 17 37,7 50 19° 12.400 2
SN51F0360USS6 160 - 200 35 M36 x 2 Left 57,15 80 46 58 43 28 165 125 41 56 17 37,7 50 19° 12.400 2

STANDARD
ISO12240-4/K

MATERIAL - SURFACE TREATMENT 
Body:
 
Sphere: 
Bushing: 

COUPLING 
Self-lubricating Steel-Bronze 

USE 
Precision mechanics, high speed.

NOTES
* 1 DaN (decanewton) = 1.02 Kgf (kilogram-force).

(d<14) 11SMnPb30 (Steel) white galvanized 
(d>12) C40 (Steel) galvanized white
100Cr6 (Steel) lubricated rectified tempered
Self-lubricating sintered bronze

A-BA FEMALE JUNCTION HEAD
steel



H

H
1

D
L

A

G1

G

V dkd

D1

17.34www.gberardi.com - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

SN51M

Code d 
(H7)

D1 
(6g)

Direction 
thread

dk D G G1 H H1 L V A Radial 
static load

(DaN) *

Package
(pcs)

SN51M0050ADS6 5 M5 Right 11,1 18 8 6 42 33 19 7,7 13° 300 30
SN51M0050ASS6 5 M5 Left 11,1 18 8 6 42 33 19 7,7 13° 300 30
SN51M0060ADS6 6 M6 Right 12,7 20 9 6,75 46 36 21 8,9 13° 400 50
SN51M0060ASS6 6 M6 Left 12,7 20 9 6,75 46 36 21 8,9 13° 400 50
SN51M0080ADS6 8 M8 Right 15,87 24 12 9 54 42 25 10,4 14° 800 40
SN51M0080ASS6 8 M8 Left 15,87 24 12 9 54 42 25 10,4 14° 800 40
SN51M0100ADS6 10 M10 Right 19,05 28 14 10,5 62 48 28 12,9 13° 1.300 30
SN51M0100ASS6 10 M10 Left 19,05 28 14 10,5 62 48 28 12,9 13° 1.300 30
SN51M0120ADS6 12 M12 Right 22,22 32 16 12 70 54 32 15,4 13° 1.700 15
SN51M0120BDS6 12 M12 x 1,25 Right 22,22 32 16 12 70 54 32 15,4 13° 1.700 0
SN51M0120ASS6 12 M12 Left 22,22 32 16 12 70 54 32 15,4 13° 1.700 15
SN51M0140ADS6 14 M14 Right 25,4 36 19 13,5 78 60 36 16,8 15° 3.600 10
SN51M0140ASS6 14 M14 Left 25,4 36 19 13,5 78 60 36 16,8 15° 3.600 10
SN51M0160ADS6 16 M16 Right 28,57 42 21 15 87 66 37 19,3 15° 4.800 10
SN51M0160ASS6 16 M16 Left 28,57 42 21 15 87 66 37 19,3 15° 4.800 10
SN51M0160BDS6 16 M16 x 1,5 Right 28,57 42 21 15 87 66 37 19,3 15° 4.800 10
SN51M0160BSS6 16 M16 x 1,5 Left 28,57 42 21 15 87 66 37 19,3 15° 4.800 10
SN51M0180BDS6 18 M18 x 1,5 Right 31,75 46 23 16,5 95 72 41 21,8 15° 5.100 10
SN51M0180BSS6 18 M18 x 1,5 Left 31,75 46 23 16,5 95 72 41 21,8 15° 5.100 10
SN51M0200ADS6 20 M20 Right 34,52 50 25 18 103 78 45 24,3 14° 5.200 10
SN51M0200ASS6 20 M20 Left 34,92 50 25 18 103 78 45 24,3 14° 5.200 10
SN51M0200BDS6 20 M20 x 1,5 Right 34,52 50 25 18 103 78 45 24,3 14° 5.200 10
SN51M0200BSS6 20 M20 x 1,5 Left 34,92 50 25 18 103 78 45 24,3 14° 5.200 10
SN51M0220BDS6 22 M22 x 1,5 Right 38,1 54 28 20 111 84 48 25,8 15° 7.500 10
SN51M0220BSS6 22 M22 x 1,5 Left 38,1 54 28 20 111 84 48 25,8 15° 7.500 10
SN51M0240BDS6 25 M24 x 2 Right 42,85 60 31 22 124 94 55 29,5 15° 8.500 4
SN51M0240BSS6 25 M24 x 2 Left 42,85 60 31 22 124 94 55 29,5 15° 8.500 4
SN51M0300BDS6 30 M30 x 2 Right 50,8 70 37 25 145 110 66 34,8 15° 10.800 4
SN51M0300BSS6 30 M30 x 2 Left 50,8 70 37 25 145 110 66 34,8 15° 10.800 4
SN51M0360UDS6 35 M36 x 2 Right 57,15 80 43 28 180 140 85 37,7 19° 12.400 2
SN51M0360USS6 35 M36 x 2 Left 57,15 80 43 28 180 140 85 37,7 19° 12.400 2

STANDARD
ISO12240-4/K 

MATERIAL - SURFACE TREATMENT 
Body: 

Sphere: 
Bushing: 

COUPLING 
Self-lubricating Steel-Bronze 

USE 
Precision mechanics, high speed.

NOTES
* 1 DaN (decanewton) = 1.02 Kgf (kilogram-force).

 
(d<14) 11SMnPb30 (Steel) white galvanized 
(d>12) C40 (Steel) galvanized white 
100Cr6 (Steel) lubricated rectified tempered
Self-lubricating sintered bronze

A-BA FEMALE JUNCTION HEAD
steel



DG

G1

d V

A

l

d1
SW D1

D2

S

H
1
H

H
2

dk

17.35 www.gberardi.com  - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

SN61F

Code Bore d 
(H7)

d1
 (6H)

Direction 
thread

dk D D1 D2 G G1 H H1 H2 l S V SW A Radial 
static 
load

(DaN) *

Package
(pcs)

SN61F0050AD00 - 5 M5 Right 11,11 18 11 9 8 6 36 27 10 10 4 7,7 9 13° 600 30
SN61F0050AS00 - 5 M5 Left 11,11 18 11 9 8 6 36 27 10 10 4 7,7 9 13° 600 30
SN61F0060AD00 12 - 16 6 M6 Right 12,7 20 13 10 9 6,75 40 30 11 12 5 8,9 11 13° 700 50
SN61F0060AS00 12 - 16 6 M6 Left 12,7 20 13 10 9 6,75 40 30 11 12 5 8,9 11 13° 700 50
SN61F0080AD00 20 8 M8 Right 15,87 24 16 12,5 12 9 48 36 13 16 5 10,4 14 14° 1.200 40
SN61F0080AS00 20 8 M8 Left 15,87 24 16 12,5 12 9 48 36 13 16 5 10,4 14 14° 1.200 40
SN61F0100AD00 - 10 M10 Right 19,05 28 19 15 14 10,5 57 43 15 20 6,5 12,9 17 13° 1.400 30
SN61F0100AS00 - 10 M10 Left 19,05 28 19 15 14 10,5 57 43 15 20 6,5 12,9 17 13° 1.400 30
SN61F0100BD00 25 - 32 10 M10 x 1,25 Right 19,05 28 19 15 14 10,5 57 43 15 20 6,5 12,9 17 13° 1.400 30
SN61F0100BS00 25 - 32 10 M10 x 1,25 Left 19,05 28 19 15 14 10,5 57 43 15 20 6,5 12,9 17 13° 1.400 30
SN61F0120AD00 - 12 M12 Right 22,22 32 22 17,5 16 12 66 50 17 22 6,5 15,4 19 13° 1.900 15
SN61F0120AS00 - 12 M12 Left 22,22 32 22 17,5 16 12 66 50 17 22 6,5 15,4 19 13° 1.900 15
SN61F0120BD00 40 - 50 12 M12 x 1,25 Right 22,22 32 22 17,5 16 12 66 50 17 22 6,5 15,4 19 13° 1.900 15
SN61F0120BS00 40 - 50 12 M12 x 1,25 Left 22,22 32 22 17,5 16 12 66 50 17 22 6,5 15,4 19 13° 1.900 15
SN61F0140AD00 - 14 M14 Right 25,4 36 25 20 19 13,5 75 57 19 25 8 16,8 22 15° 3.600 10
SN61F0140AS00 - 14 M14 Left 25,4 36 25 20 19 13,5 75 57 19 25 8 16,8 22 15° 3.600 10
SN61F0160AD00 - 16 M16 Right 28,57 42 27 22 21 15 85 64 23 28 8 19,3 22 15° 4.800 10
SN61F0160AS00 - 16 M16 Left 28,57 42 27 22 21 15 85 64 23 28 8 19,3 22 15° 4.800 10
SN61F0160BD00 50 - 63 16 M16 x 1,5 Right 28,57 42 27 22 21 15 85 64 23 28 8 19,3 22 15° 4.800 10
SN61F0160BS00 50 - 63 16 M16 x 1,5 Left 28,57 42 27 22 21 15 85 64 23 28 8 19,3 22 15° 4.800 10
SN61F0200AD00 - 20 M20 Right 34,92 50 34 27,5 25 18 102 77 27 33 10 24,3 30 14° 5.200 10
SN61F0200AS00 - 20 M20 Left 34,92 50 34 27,5 25 18 102 77 27 33 10 24,3 30 14° 5.200 10
SN61F0200BD00 80 - 100 20 M20 x 1,5 Right 34,92 50 34 27,5 25 18 102 77 27 33 10 24,3 30 14° 5.200 10
SN61F0200BS00 80 - 100 20 M20 x 1,5 Left 34,92 50 34 27,5 25 18 102 77 27 33 10 24,3 30 14° 5.200 10

STANDARD
ISO12240-4/K

MATERIAL - SURFACE TREATMENT 
Body:  
Sphere: 
Bushing:

COUPLING 
Self-lubricating Stainless Steel-Bronze 

USE 
Precision mechanics, exposure to oxidizing/corrosive 
atmosphere.

NOTES
* 1 DaN (decanewton) = 1.02 Kgf (kilogram-force).

AISI304 (Stainless steel) 
AISI420 (Stainless steel)
Self-lubricating sintered bronze

I-BA FEMALE JUNCTION HEAD 
stainless steel



H

H
1

D

L

A

G1

G

V dkd

D1

17.36www.gberardi.com - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

SN61M

Code d 
(H7)

D1 
(6g)

Direction 
thread

dk D G G1 H H1 L V A Radial 
static load

(DaN) *

Package
(pcs)

SN61M0050AD00 5 M5 Right 11,11 18 8 6 42 33 19 7,7 13° 300 30
SN61M0050AS00 5 M5 Left 11,11 18 8 6 42 33 19 7,7 13° 300 30
SN61M0060AD00 6 M6 Right 12,7 20 9 6,75 46 36 21 8,9 13° 400 50
SN61M0060AS00 6 M6 Left 12,7 20 9 6,75 46 36 21 8,9 13° 400 50
SN61M0080AD00 8 M8 Right 15,87 24 12 9 54 42 25 10,4 14° 800 40
SN61M0080AS00 8 M8 Left 15,87 24 12 9 54 42 25 10,4 14° 800 40
SN61M0100AD00 10 M10 Right 19,05 28 14 10,5 62 48 28 12,9 13° 1.300 30
SN61M0100AS00 10 M10 Left 19,05 28 14 10,5 62 48 28 12,9 13° 1.300 30
SN61M0120AD00 12 M12 Right 22,22 32 16 12 70 54 32 15,4 13° 1.700 15
SN61M0120AS00 12 M12 Left 22,22 32 16 12 70 54 32 15,4 13° 1.700 15
SN61M0140AD00 14 M14 Right 25,4 36 19 13,5 78 60 36 16,8 15° 3.600 10
SN61M0140AS00 14 M14 Left 25,4 36 19 13,5 78 60 36 16,8 15° 3.600 10
SN61M0160AD00 16 M16 Right 28,57 42 21 15 87 66 37 19,3 15° 4.800 10
SN61M0160AS00 16 M16 Left 28,57 42 21 15 87 66 37 19,3 15° 4.800 10
SN61M0200AD00 20 M20 Right 34,92 50 25 18 103 78 45 24,3 14° 5.200 10
SN61M0200AS00 20 M20 Left 34,92 50 25 18 103 78 45 24,3 14° 5.200 10
SN61M0200BD00 20 M20 x 1,5 Right 34,92 50 25 18 103 78 45 24,3 14° 5.200 10
SN61M0200BS00 20 M20 x 1,5 Left 34,92 50 25 18 103 78 45 24,3 14° 5.200 10

STANDARD
ISO12240-4/K

MATERIAL - SURFACE TREATMENT 
Body: 
Sphere: 
Bushing: 

COUPLING 
Self-lubricating Stainless Steel-Bronze 

USE 
Precision mechanics, exposure to oxidizing/corrosive 
atmosphere.

NOTES
* 1 DaN (decanewton) = 1.02 Kgf (kilogram-force).

 
AISI304 (Stainless steel) 
AISI420 (Stainless steel)
Self-lubricating sintered bronze

I-BA MALE JUNCTION HEAD
stainless steel



G

sm

G1

dk

sm

d

sm1

V D

A

sm

17.37 www.gberardi.com  - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

SN5S0

Code d 
(H7)

dk D G G1 sm sm1 V A Radial 
static load

(DaN) *

Axial 
static load

(DaN) *

Package
(pcs)

SN5S000600000 6 12,7 16 9 6,75 0,3 0,3 8,9 13° 1.700 220 30
SN5S000800000 8 15,87 19 12 9 0,3 0,3 10,4 14° 2.800 370 30
SN5S001000000 10 19,05 22 14 10,5 0,3 0,3 12,9 13° 4.000 520 50
SN5S001200000 12 22,22 26 16 12 0,3 0,3 15,4 13° 5.300 700 40
SN5S001600000 16 28,57 32 21 15 0,3 0,3 19,3 15° 8.500 1.100 30
SN5S002000000 20 34,92 40 20 18 0,3 0,6 24,3 14° 12.500 1.600 30
SN5S003000000 30 50,8 55 30 25 0,3 0,6 34,8 17° 25.400 3.300 15
SN5S003500000 35 57,15 62 43 28 0,6 1 37,7 19° 32.000 4.150 4

STANDARD
ISO12240-1/K

MATERIAL - SURFACE TREATMENT 
Sphere: 
Bushing: 

COUPLING 
Self-lubricating Steel-Steel 

USE 
Precision mechanics.

NOTES
* 1 DaN (decanewton) = 1.02 Kgf (kilogram-force).

 
100Cr6 (Steel)
Self-lubricating sintered steel

A-AA BALL JOINT
steel



G

sm

G1

dk

sm

d

sm1

V D

sm

A

17.38www.gberardi.com - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

SN5S2

Code d 
(H7)

dk D G G1 sm sm1 V A Radial 
static load

(DaN) *

Axial 
static load

(DaN) *

Package
(pcs)

SN5S200600000 6 12,7 16 9 6,75 0,3 0,3 8,9 13° 1.700 220 30
SN5S200800000 8 15,87 19 12 9 0,3 0,3 10,4 14° 2.800 370 30
SN5S201000000 10 19,05 22 14 10,5 0,3 0,3 12,9 13° 4.000 520 50
SN5S201200000 12 22,22 26 16 12 0,3 0,3 15,4 13° 5.300 700 40
SN5S201400000 14 25,4 28 19 13,5 0,3 0,3 16,8 15° 8.600 880 30
SN5S201600000 16 28,57 32 21 15 0,3 0,3 19,3 15° 8.500 1.100 30
SN5S201800000 18 31,75 35 23 16,5 0,3 0,3 21,8 15° 13.100 1.400 30
SN5S202000000 20 34,92 40 25 18 0,3 0,6 24,3 14° 12.500 1.600 30
SN5S202200000 22 38,1 42 26 20 0,3 0,6 25,8 15° 19.100 2.100 15
SN5S202500000 25 42,85 47 31 22 0,3 0,6 29,5 15° 23.600 2.700 15
SN5S203000000 30 50,8 55 37 25 0,3 0,6 34,8 17° 25.400 3.300 10
SN5S203500000 35 57,15 62 43 28 0,6 1 37,7 19° 32.000 4.150 4
SN5S204000000 40 66,6 75 49 33 0,6 1 44,2 16° 48.000 4.800 4
SN5S205000000 50 82,5 90 60 45 0,6 1 55,8 14° 80.000 7.900 4

STANDARD
ISO12240-1/K

MATERIAL - SURFACE TREATMENT 
Sphere: 
Bushing: 

COUPLING 
Steel-Metallic fabric with PTFE 

USE 
Precision mechanics.

NOTES
* 1 DaN (decanewton) = 1.02 Kgf (kilogram-force).

100Cr6 (Steel)
C45 metallic fabric internal PTFE

A-TM-PTFE BALL JOINT
steel



G

sm

G1

dk

sm

d

sm1

V D

sm

A

17.39 www.gberardi.com  - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

SN6S2

Code d 
(H7)

dk D G G1 sm sm1 V A Radial 
static load

(DaN) *

Axial 
static load

(DaN) *

Package
(pcs)

SN6S200600000 6 12,7 16 9 6,75 0,3 0,3 8,9 13° 1.700 220 30
SN6S200800000 8 15,87 19 12 9 0,3 0,3 10,4 14° 2.800 370 30
SN6S201000000 10 19,05 22 14 10,5 0,3 0,3 12,9 13° 4.000 520 50
SN6S201200000 12 22,22 26 16 12 0,3 0,3 15,4 13° 5.300 700 40
SN6S201400000 14 25,4 28 19 13,5 0,3 0,3 16,8 15° 8.600 880 30
SN6S201600000 16 28,57 32 21 15 0,3 0,3 19,3 15° 8.500 1.100 30
SN6S201800000 18 31,75 35 23 16,5 0,3 0,3 21,8 15° 13.100 1.400 30
SN6S202000000 20 34,92 40 25 18 0,3 0,6 24,3 14° 12.500 1.600 30
SN6S202200000 22 38,1 42 28 20 0,3 0,6 25,8 15° 19.100 2.100 15
SN6S202500000 25 42,85 47 31 22 0,3 0,6 29,5 15° 23.600 2.700 15
SN6S203000000 30 50,8 55 37 25 0,3 0,6 34,8 17° 25.400 3.300 10
SN6S203500000 35 57,15 62 43 28 0,6 1 37,7 19° 32.000 4.150 4

STANDARD
ISO12240-1/K

MATERIAL - SURFACE TREATMENT 
Sphere: 
Bushing: 

COUPLING 
Stainless Steel-Metallic fabric with PTFE 

USE 
Precision mechanics, exposure to oxidizing/corrosive 
atmosphere.

NOTES
* 1 DaN (decanewton) = 1.02 Kgf (kilogram-force).

AISI420 (Stainless steel)
AISI304 metallic fabric internal PTFE

I-TM-PTFE BALL JOINT 
stainless steel



d h

D1

A

L

A

h1

h2

D
2

d1

l

D

A
D3

A1

SW1

SW

R

forma C

17.40www.gberardi.com - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

SN5A0

Code d d1 
(6H)

D1 
(6g)

Direction 
thread

D D2 D3
 (h14)

h h1 h2 l 
(min)

L R
(max)

SW 
(h14)

SW1 
(h14)

A
(min)

A1 Package
(pcs)

SN5A00052AD05 8 M5 M5 Right 12,8 8 8 22 9 0,65 10,2 10,2 0,3 7 7 18° 10° 100
SN5A00052AS05 8 M5 M5 Left 12,8 8 8 22 9 0,65 10,2 10,2 0,3 7 7 18° 10° 100
SN5A00062AD05 10 M6 M6 Right 14,8 10 10 25 11 0,7 11,5 12,5 0,3 8 8 18° 15° 100
SN5A00062AS05 10 M6 M6 Left 14,8 10 10 25 11 0,7 11,5 12,5 0,3 8 8 18° 15° 100
SN5A00083AD05 13 M8 M8 Right 19,3 13 13 30 13 1,15 14 16,5 0,5 11 11 18° 15° 100
SN5A00083AS05 13 M8 M8 Left 19,3 13 13 30 13 1,15 14 16,5 0,5 11 11 18° 15° 100
SN5A00103AD05 16 M10 M10 Right 24 16 16 35 16 1,15 15,5 20 0,5 13 13 18° 15° 100
SN5A00103AS05 16 M10 M10 Left 24 16 16 35 16 1,15 15,5 20 0,5 13 13 18° 15° 100
SN5A00123AD05 16 M12 M12 Right 24 16 16 35 16 1,15 15,5 20 0,5 13 - 18° 15° 100
SN5A00123AS05 16 M12 M12 Left 24 16 16 35 16 1,15 15,5 20 0,5 13 - 18° 15° 100
SN5A00144AD05 19 M14 M14 Right 30 22 19 45 20 0,5 21,5 28 0,8 16 - 18° 15° 25
SN5A00144AS05 19 M14 M14 Left 30 22 19 45 20 0,5 21,5 28 0,8 16 - 18° 15° 25
SN5A00144BD05 19 M14 x 1,5 M14 x 1,5 Right 30 22 19 45 20 0,5 21,5 28 0,8 16 - 18° 15° 25
SN5A00144BS05 19 M14 x 1,5 M14 x 1,5 Left 30 22 19 45 20 0,5 21,5 28 0,8 16 - 18° 15° 25
SN5A00164AD05 19 M16 M16 Right 30 22 19 45 20 0,5 21,5 28 0,8 16 - 18° 15° 25
SN5A00164AS05 19 M16 M16 Left 30 22 19 45 20 0,5 21,5 28 0,8 16 - 18° 15° 25

STANDARD
DIN 71802/C

MATERIAL - SURFACE TREATMENT 
Male body:
 

Female body:  
 
 
Internal spring: 

 
AC (Steel) tensile strength 60 DaN/
mm with tempered sphere >52HRC 
white galvanized
11SMnPb30 (Steel) tensile strength 
50 DaN/mm with tempered sphere 
>52HRC white galvanized 
C98 (Steel) white galvanized

A-A-A ANGLE JOINT INTERNAL SPRING
steel



d h

D1

A

L

A

h1

h2

D
2

d1

l

D

A
D3

A1

SW1

SW

R

forma C

17.41 www.gberardi.com  - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

SN6A0

Code d d1
(6H)

D1 
(6g)

Direction 
thread

D D2 D3
 (h14)

h h1 h2 l 
(min)

L R
(max)

SW 
(h14)

SW1 
(h14)

A
(min)

A1 Package
(pcs)

SN6A00052AD00 8 M5 M5 Right 12,8 8 8 22 9 0,65 10,2 10,2 0,3 7 7 18° 10° 100
SN6A00052AS00 8 M5 M5 Left 12,8 8 8 22 9 0,65 10,2 10,2 0,3 7 7 18° 10° 100
SN6A00062AD00 10 M6 M6 Right 14,8 10 10 25 11 0,7 11,5 12,5 0,3 8 8 18° 15° 100
SN6A00062AS00 10 M6 M6 Left 14,8 10 10 25 11 0,7 11,5 12,5 0,3 8 8 18° 15° 100
SN6A00083AD00 13 M8 M8 Right 19,3 13 13 30 13 1,15 14 16,5 0,5 11 11 18° 15° 100
SN6A00083AS00 13 M8 M8 Left 19,3 13 13 30 13 1,15 14 16,5 0,5 11 11 18° 15° 100
SN6A00103AD00 16 M10 M10 Right 24 16 16 35 16 1,15 15,5 20 0,5 13 13 18° 15° 100
SN6A00103AS00 16 M10 M10 Left 24 16 16 35 16 1,15 15,5 20 0,5 13 13 18° 15° 100
SN6A00123AD00 16 M12 M12 Right 24 16 16 35 16 1,15 15,5 20 0,5 13 - 18° 15° 100
SN6A00123AS00 16 M12 M12 Left 24 16 16 35 16 1,15 15,5 20 0,5 13 - 18° 15° 100
SN6A00144AD00 19 M14 M14 Right 30 22 19 45 20 0,5 21,5 28 0,8 16 - 18° 15° 25
SN6A00144AS00 19 M14 M14 Left 30 22 19 45 20 0,5 21,5 28 0,8 16 - 18° 15° 25
SN6A00144BD00 19 M14 x 1,5 M14 x 1,5 Right 30 22 19 45 20 0,5 21,5 28 0,8 16 - 18° 15° 25
SN6A00144BS00 19 M14 x 1,5 M14 x 1,5 Left 30 22 19 45 20 0,5 21,5 28 0,8 16 - 18° 15° 25
SN6A00164AD00 19 M16 M16 Right 30 22 19 45 20 0,5 21,5 28 0,8 16 - 18° 15° 25
SN6A00164AS00 19 M16 M16 Left 30 22 19 45 20 0,5 21,5 28 0,8 16 - 18° 15° 25

STANDARD
DIN 71802/C

MATERIAL - SURFACE TREATMENT 
Male body: 
Female body: 
Internal spring:  

 
AISI303 (Stainless steel)
AISI303 (Stainless steel) 
AISI302 (Stainless steel) 

I-A-A ANGLE JOINT INTERNAL SPRING
stainless steel



d h

D1

A

L

A

h1

h2

D
2

d1

l

SW1

D

A

SW

R

D3

A1forma CS

17.42www.gberardi.com - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

SN5A1

Code d d1 
(6H)

D1 
(6g)

Direction 
thread

D D2 D3
 (h14)

h h1 h2 l 
(min)

L R
(max)

SW 
(h14)

SW1 
(h14)

A
(min)

A1 Package
(pcs)

SN5A10052AD05 8 M5 M5 Right 12,8 8 8 22 9 0,65 10,2 10,2 0,3 7 7 18° 10° 100
SN5A10052AS05 8 M5 M5 Left 12,8 8 8 22 9 0,65 10,2 10,2 0,3 7 7 18° 10° 100
SN5A10062AD05 10 M6 M6 Right 14,8 10 10 25 11 0,7 11,5 12,5 0,3 8 8 18° 15° 100
SN5A10062AS05 10 M6 M6 Left 14,8 10 10 25 11 0,7 11,5 12,5 0,3 8 8 18° 15° 100
SN5A10083AD05 13 M8 M8 Right 19,3 13 13 30 13 1,15 14 16,5 0,5 11 11 18° 15° 100
SN5A10083AS05 13 M8 M8 Left 19,3 13 13 30 13 1,15 14 16,5 0,5 11 11 18° 15° 100
SN5A10103AD05 16 M10 M10 Right 24 16 16 35 16 1,15 15,5 20 0,5 13 13 18° 15° 100
SN5A10103AS05 16 M10 M10 Left 24 16 16 35 16 1,15 15,5 20 0,5 13 13 18° 15° 100
SN5A10123AD05 16 M12 M12 Right 24 16 16 35 16 1,15 15,5 20 0,5 13 - 18° 15° 100
SN5A10123AS05 16 M12 M12 Left 24 16 16 35 16 1,15 15,5 20 0,5 13 - 18° 15° 100
SN5A10144AD05 19 M14 M14 Right 30 22 19 45 20 0,5 21,5 28 0,8 16 - 18° 15° 25
SN5A10144AS05 19 M14 M14 Left 30 22 19 45 20 0,5 21,5 28 0,8 16 - 18° 15° 25
SN5A10144BD05 19 M14 x 1,5 M14 x 1,5 Right 30 22 19 45 20 0,5 21,5 28 0,8 16 - 18° 15° 25
SN5A10144BS05 19 M14 x 1,5 M14 x 1,5 Left 30 22 19 45 20 0,5 21,5 28 0,8 16 - 18° 15° 25
SN5A10164AD05 19 M16 M16 Right 30 22 19 45 20 0,5 21,5 28 0,8 16 - 18° 15° 25
SN5A10164AS05 19 M16 M16 Left 30 22 19 45 20 0,5 21,5 28 0,8 16 - 18° 15° 25

STANDARD
DIN 71802/CS

MATERIAL - SURFACE TREATMENT 
Male body: 

Female body:  
 
 
Internal spring:  
External spring:  

 
AC (Steel) tensile strength 60 DaN/
mm with tempered sphere >52HRC 
white galvanized
11SMnPb30 (Steel) tensile strength 
50 DaN/mm with tempered sphere 
>52HRC white galvanized 
C98 (Steel) white galvanized 
C98 (Steel) white galvanized 

A-A-A ANGLE JOINT INTERNAL EXTERNAL SPRING
steel



d h

D1

A

L

A

h1

h2

D
2

d1

l

SW1

D

A

SW

R

D3

A1forma CS

17.43 www.gberardi.com  - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

SN6A1

Code d d1 
(6H)

D1 
(6g)

Direction 
thread

D D2 D3
 (h14)

h h1 h2 l 
(min)

L R
(max)

SW 
(h14)

SW1 
(h14)

A
(min)

A1 Package
(pcs)

SN6A10052AD00 8 M5 M5 Right 12,8 8 8 22 9 0,65 10,2 10,2 0,3 7 7 18° 10° 100
SN6A10052AS00 8 M5 M5 Left 12,8 8 8 22 9 0,65 10,2 10,2 0,3 7 7 18° 10° 100
SN6A10062AD00 10 M6 M6 Right 14,8 10 10 25 11 0,7 11,5 12,5 0,3 8 8 18° 15° 100
SN6A10062AS00 10 M6 M6 Left 14,8 10 10 25 11 0,7 11,5 12,5 0,3 8 8 18° 15° 100
SN6A10083AD00 13 M8 M8 Right 19,3 13 13 30 13 1,15 14 16,5 0,5 11 11 18° 15° 100
SN6A10083AS00 13 M8 M8 Left 19,3 13 13 30 13 1,15 14 16,5 0,5 11 11 18° 15° 100
SN6A10103AD00 16 M10 M10 Right 24 16 16 35 16 1,15 15,5 20 0,5 13 13 18° 15° 100
SN6A10103AS00 16 M10 M10 Left 24 16 16 35 16 1,15 15,5 20 0,5 13 13 18° 15° 100
SN6A10123AD00 16 M12 M12 Right 24 16 16 35 16 1,15 15,5 20 0,5 13 - 18° 15° 100
SN6A10123AS00 16 M12 M12 Left 24 16 16 35 16 1,15 15,5 20 0,5 13 - 18° 15° 100
SN6A10144AD00 19 M14 M14 Right 30 22 19 45 20 0,5 21,5 28 0,8 16 - 18° 15° 25
SN6A10144AS00 19 M14 M14 Left 30 22 19 45 20 0,5 21,5 28 0,8 16 - 18° 15° 25
SN6A10144BD00 19 M14 x 1,5 M14 x 1,5 Right 30 22 19 45 20 0,5 21,5 28 0,8 16 - 18° 15° 25
SN6A10144BS00 19 M14 x 1,5 M14 x 1,5 Left 30 22 19 45 20 0,5 21,5 28 0,8 16 - 18° 15° 25
SN6A10164AD00 19 M16 M16 Right 30 22 19 45 20 0,5 21,5 28 0,8 16 - 18° 15° 25
SN6A10164AS00 19 M16 M16 Left 30 22 19 45 20 0,5 21,5 28 0,8 16 - 18° 15° 25

STANDARD
DIN 71802/CS

MATERIAL - SURFACE TREATMENT 
Male body: 
Female body: 
Internal spring: 
External spring: 

 
AISI303 (Stainless steel)
AISI303 (Stainless steel) 
AISI302 (Stainless steel)
AISI302 (Stainless steel) 

I-A-A ANGLE JOINT INTERNAL EXTERNAL SPRING
stainless steel



A1

l

G1

H
3

SM

d

A
d1

H
1

H

H
2

D

A2

A3

G
G

17.44www.gberardi.com - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

FO5T0

Code d1 
(H9)

d Direction 
thread

D G 
(h11)

G1 H H1 H2 H3 l SM A A1 A2 A3 Package
(pcs)

FO5T00040AD05 4 M4 Right 8 8 4 21 16 6 6 6 0,5 100° 90° 120° 30° 100
FO5T00040AS05 4 M4 Left 8 8 4 21 16 6 6 6 0,5 100° 90° 120° 30° 100
FO5T00050AD05 5 M5 Right 9 10 5 26 20 7,5 7,5 8 0,5 100° 90° 120° 30° 100
FO5T00050AS05 5 M5 Left 9 10 5 26 20 7,5 7,5 8 0,5 100° 90° 120° 30° 100
FO5T00060AD05 6 M6 Right 10 12 6 31 24 9 9 11 0,5 100° 90° 120° 30° 100
FO5T00060AS05 6 M6 Left 10 12 6 31 24 9 9 11 0,5 100° 90° 120° 30° 100
FO5T00080AD05 8 M8 Right 14 16 8 42 32 12 12 14 0,5 100° 90° 120° 30° 100
FO5T00080AS05 8 M8 Left 14 16 8 42 32 12 12 14 0,5 100° 90° 120° 30° 100
FO5T00100AD05 10 M10 Right 18 20 10 52 40 15 15 18 0,5 100° 90° 120° 30° 100
FO5T00100AS05 10 M10 Left 18 20 10 52 40 15 15 18 0,5 100° 90° 120° 30° 100
FO5T00100BD05 10 M10 x 1,25 Right 18 20 10 52 40 15 15 18 0,5 100° 90° 120° 30° 100
FO5T00100BS05 10 M10 x 1,25 Left 18 20 10 52 40 15 15 18 0,5 100° 90° 120° 30° 100
FO5T00120AD05 12 M12 Right 20 24 12 62 48 18 18 22 0,5 100° 90° 120° 30° 50
FO5T00120AS05 12 M12 Left 20 24 12 62 48 18 18 22 0,5 100° 90° 120° 30° 50
FO5T00120BD05 12 M12 x 1,25 Right 20 24 12 62 48 18 18 22 0,5 100° 90° 120° 30° 50
FO5T00120BS05 12 M12 x 1,25 Left 20 24 12 62 48 18 18 22 0,5 100° 90° 120° 30° 50
FO5T00140AD05 14 M14 Right 24 27 14 72 56 22,5 21 25 1 100° 90° 120° 30° 50
FO5T00140AS05 14 M14 Left 24 27 14 72 56 22,5 21 25 1 100° 90° 120° 30° 50
FO5T00160AD05 16 M16 Right 26 32 16 83 64 24 24 30 1 100° 90° 120° 30° 20
FO5T00160AS05 16 M16 Left 26 32 16 83 64 24 24 30 1 100° 90° 120° 30° 20
FO5T00160BD05 16 M16 x 1,5 Right 26 32 16 83 64 24 24 30 1 100° 90° 120° 30° 20
FO5T00160BS05 16 M16 x 1,5 Left 26 32 16 83 64 24 24 30 1 100° 90° 120° 30° 20
FO5T00200AD05 20 M20 Right 34 40 20 105 80 30 30 38 1 100° 90° 120° 30° 10
FO5T00200AS05 20 M20 Left 34 40 20 105 80 30 30 38 1 100° 90° 120° 30° 10
FO5T00200BD05 20 M20 x 1,5 Right 34 40 20 105 80 30 30 38 1 100° 90° 120° 30° 10
FO5T00200BS05 20 M20 x 1,5 Left 34 40 20 105 80 30 30 38 1 100° 90° 120° 30° 10

MATERIAL  
11SMnPb30 (Steel)

SURFACE TREATMENT
White galvanized

FEMALE FORK CONNECTION
steel



g1

G1

R

A1

sm

d

H
3

A1 A2

A

R

H

D

H
2

d1

H
1

G

A3

g1

G1

R

A1

sm

d

H
3

A1 A2

A

R

H

D

H
2

d1

H
1

G

A3

17.45 www.gberardi.com  - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

FO5D0

Code Bore d1 
(H9)

d 
(H6)

Direction 
thread

g1 G 
(h11)

G1 D H H1 H2 H3 R sm A A1 A2 A3 Radial 
static load 

(DaN) *

Package
(pcs)

FO5D00040AD05 8 - 10 4 M4 Right 4 8 8 8 21 16 6 8 0,5 0,5 100° 90° 120° 30° 320 100
FO5D00040AS05 8 - 10 4 M4 Left 4 8 8 8 21 16 6 8 0,5 0,5 100° 90° 120° 30° 320 100
FO5D00041AD05 - 4 M4 Right 4 8 8 8 29 24 6 16 0,5 0,5 100° 90° 120° 30° 320 100
FO5D00041AS05 - 4 M4 Left 4 8 8 8 29 24 6 16 0,5 0,5 100° 90° 120° 30° 320 100
FO5D00051AD05 - 5 M5 Right 5 10 10 9 26 20 7,5 10 0,5 0,5 100° 90° 120° 30° 500 100
FO5D00051AS05 - 5 M5 Left 5 10 10 9 26 20 7,5 10 0,5 0,5 100° 90° 120° 30° 500 100
FO5D00052AD05 - 5 M5 Right 5 10 10 9 36 30 7,5 20 0,5 0,5 100° 90° 120° 30° 500 100
FO5D00052AS05 - 5 M5 Left 5 10 10 9 36 30 7,5 20 0,5 0,5 100° 90° 120° 30° 500 100
FO5D00061AD05 12 - 16 6 M6 Right 6 12 12 10 31 24 9 12 0,5 0,5 100° 90° 120° 30° 720 100
FO5D00061AS05 12 - 16 6 M6 Left 6 12 12 10 31 24 9 12 0,5 0,5 100° 90° 120° 30° 720 100
FO5D00062AD05 - 6 M6 Right 6 12 12 10 43 36 9 24 0,5 0,5 100° 90° 120° 30° 720 100
FO5D00062AS05 - 6 M6 Left 6 12 12 10 43 36 9 24 0,5 0,5 100° 90° 120° 30° 720 100
FO5D00081AD05 20 8 M8 Right 8 16 16 14 42 32 12 16 0,5 0,5 100° 90° 120° 30° 1.280 100
FO5D00081AS05 20 8 M8 Left 8 16 16 14 42 32 12 16 0,5 0,5 100° 90° 120° 30° 1.280 100
FO5D00083AD05 - 8 M8 Right 8 16 16 14 58 48 12 32 0,5 0,5 100° 90° 120° 30° 1.280 100
FO5D00083AS05 - 8 M8 Left 8 16 16 14 58 48 12 32 0,5 0,5 100° 90° 120° 30° 1.280 100
FO5D00102AD05 - 10 M10 Right 10 20 20 18 52 40 15 20 0,5 0,5 100° 90° 120° 30° 2.000 100
FO5D00102AS05 - 10 M10 Left 10 20 20 18 52 40 15 20 0,5 0,5 100° 90° 120° 30° 2.000 100
FO5D00102BD05 25 - 32 10 M10 x 1,25 Right 10 20 20 18 52 40 15 20 0,5 0,5 100° 90° 120° 30° 2.000 100
FO5D00102BS05 25 - 32 10 M10 x 1,25 Left 10 20 20 18 52 40 15 20 0,5 0,5 100° 90° 120° 30° 2.000 100
FO5D00104AD05 - 10 M10 Right 10 20 20 18 72 60 15 40 0,5 0,5 100° 90° 120° 30° 2.000 50
FO5D00104AS05 - 10 M10 Left 10 20 20 18 72 60 15 40 0,5 0,5 100° 90° 120° 30° 2.000 50
FO5D00122AD05 - 12 M12 Right 12 24 24 20 62 48 18 24 0,5 0,5 100° 90° 120° 30° 2.880 50
FO5D00122AS05 - 12 M12 Left 12 24 24 20 62 48 18 24 0,5 0,5 100° 90° 120° 30° 2.880 50
FO5D00122BD05 40 12 M12 x 1,25 Right 12 24 24 20 62 48 18 24 0,5 0,5 100° 90° 120° 30° 2.880 50
FO5D00122BS05 40 12 M12 x 1,25 Left 12 24 24 20 62 48 18 24 0,5 0,5 100° 90° 120° 30° 2.880 50
FO5D00124AD05 - 12 M12 Right 12 24 24 20 86 72 18 48 0,5 0,5 100° 90° 120° 30° 2.880 50
FO5D00124AS05 - 12 M12 Left 12 24 24 20 86 72 18 48 0,5 0,5 100° 90° 120° 30° 2.880 50
FO5D00142AD05 - 14 M14 Right 14 27 27 24 72 56 22,5 28 1 0,5 100° 90° 120° 30° 3.380 50
FO5D00142AS05 - 14 M14 Left 14 27 27 24 72 56 22,5 28 1 0,5 100° 90° 120° 30° 3.380 50
FO5D00145AD05 - 14 M14 Right 14 27 27 24 101 85 22,5 56 1 0,5 100° 90° 120° 30° 3.380 50
FO5D00145AS05 - 14 M14 Left 14 27 27 24 101 85 22,5 56 1 0,5 100° 90° 120° 30° 3.380 50

STANDARD  
DIN 71752

MATERIAL  
11SMnPb30 (Steel)

SURFACE TREATMENT
White galvanized

NOTES
For codes with d1>18, the indicated dimensions are not 
covered by DIN 71752.
* 1 DaN (decanewton) = 1.02 Kgf (kilogram-force)

FEMALE FORK
steel



g1

G1

R

A1

sm

d

H
3

A1 A2

A

R

H

D

H
2

d1

H
1

G

A3

g1

G1

R

A1

sm

d
H

3

A1 A2

A

R

H

D

H
2

d1

H
1

G

A3

17.46www.gberardi.com - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

FO5D0

Code Bore d1 
(H9)

d 
(H6)

Direction 
thread

g1 G 
(h11)

G1 D H H1 H2 H3 R sm A A1 A2 A3 Radial 
static load 

(DaN) *

Package
(pcs)

FO5D00163AD05 - 16 M16 Right 16 32 32 26 83 64 24 32 1 1 100° 90° 120° 30° 5.120 20
FO5D00163AS05 - 16 M16 Left 16 32 32 26 83 64 24 32 1 1 100° 90° 120° 30° 5.120 20
FO5D00163BD05 50 - 63 16 M16 x 1,5 Right 16 32 32 26 83 64 24 32 1 1 100° 90° 120° 30° 5.120 20
FO5D00163BS05 50 - 63 16 M16 x 1,5 Left 16 32 32 26 83 64 24 32 1 1 100° 90° 120° 30° 5.120 20
FO5D00166AD05 - 16 M16 Right 16 32 32 26 115 96 24 64 1 1 100° 90° 120° 30° 5.120 20
FO5D00166AS05 - 16 M16 Left 16 32 32 26 115 96 24 64 1 1 100° 90° 120° 30° 5.120 20
FO5D00204AD05 - 20 M20 Right 20 40 40 34 105 80 30 40 1,5 1 100° 90° 120° 30° 8.000 10
FO5D00204AS05 - 20 M20 Left 20 40 40 34 105 80 30 40 1,5 1 100° 90° 120° 30° 8.000 10
FO5D00204BD05 80 - 100 20 M20 x 1,5 Right 20 40 40 34 105 80 30 40 1,5 1 100° 90° 120° 30° 8.000 10
FO5D00204BS05 80 - 100 20 M20 x 1,5 Left 20 40 40 34 105 80 30 40 1,5 1 100° 90° 120° 30° 8.000 10
FO5D00208AD05 - 20 M20 Right 20 40 40 34 145 120 30 80 1,5 1 100° 90° 120° 30° 8.000 10
FO5D00208AS05 - 20 M20 Left 20 40 40 34 145 120 30 80 1,5 1 100° 90° 120° 30° 8.000 10
FO5D00245AD05 - 25 M24 Right 25 50 50 42 132 100 36 50 1,5 1 100° 90° 120° 30° 12.500 10
FO5D00245AS05 - 25 M24 Left 25 50 50 42 132 100 36 50 1,5 1 100° 90° 120° 30° 12.500 10
FO5D00245BD05 125 25 M24 x 2 Right 25 50 50 42 132 100 36 50 1,5 1 100° 90° 120° 30° 12.500 10
FO5D00245BS05 125 25 M24 x 2 Left 25 50 50 42 132 100 36 50 1,5 1 100° 90° 120° 30° 12.500 10
FO5D00275BD05 125 30 M27 x 2 Right 30 55 55 48 148 110 38 54 2 1 100° 90° 120° 30° 12.500 4
FO5D00275BS05 125 30 M27 x 2 Left 30 55 55 48 148 110 38 54 2 1 100° 90° 120° 30° 12.500 4
FO5D00305AD05 - 30 M30 Right 30 55 55 48 148 110 38 54 2 1 100° 90° 120° 30° 12.500 4
FO5D00305AS05 - 30 M30 Left 30 55 55 48 148 110 38 54 2 1 100° 90° 120° 30° 12.500 4
FO5D00367AD05 - 35 M36 Right 35 70 70 60 188 144 40 72 3 1 100° 90° 120° 30° 24.500 2
FO5D00367AS05 - 35 M36 Left 35 70 70 60 188 144 40 72 3 1 100° 90° 120° 30° 24.500 2
FO5D00367UD05 - 35 M36 x 2 Right 35 70 70 60 188 144 40 72 3 1 100° 90° 120° 30° 24.500 2
FO5D00367US05 - 35 M36 x 2 Left 35 70 70 60 188 144 40 72 3 1 100° 90° 120° 30° 24.500 2
FO5D00428AD05 - 42 M42 Right 42 85 85 70 232 168 63,5 84 5 1 100° 90° 120° 30° 35.500 1
FO5D00428AS05 - 42 M42 Left 42 85 85 70 232 168 63,5 84 5 1 100° 90° 120° 30° 35.500 1
FO5D00428UD05 250 42 M42 x 2 Right 42 85 85 70 232 168 63,5 84 5 1 100° 90° 120° 30° 35.500 1
FO5D00428US05 250 42 M42 x 2 Left 42 85 85 70 232 168 63,5 84 5 1 100° 90° 120° 30° 35.500 1
FO5D00489UD05 320 50 M48 x 2 Right 50 96 96 82 265 192 73 96 5 1 100° 90° 120° 30° 41.000 1
FO5D00489US05 320 50 M48 x 2 Left 50 96 96 82 265 192 73 96 5 1 100° 90° 120° 30° 41.000 1

STANDARD  
DIN 71752

MATERIAL  
11SMnPb30 (Steel)

SURFACE TREATMENT
White galvanized

NOTES
For codes with d1>18, the indicated dimensions are not 
covered by DIN 71752.
* 1 DaN (decanewton) = 1.02 Kgf (kilogram-force)

FEMALE FORK
acier



g1

G1

R

A1

sm

d

H
3

A1 A2

A

R

H

D

H
2

d1

H
1

G

A3

g1

G1

R

A1

sm

d

H
3

A1 A2

A

R

H

D

H
2

d1

H
1

G

A3

17.47 www.gberardi.com  - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

FO6D0

Code Bore d1 
(H9)

d 
(H6)

Direction 
thread

g1 G 
(h11)

G1 D H H1 H2 H3 R sm A A1 A2 A3 Radial 
static load 

(DaN) *

Package
(pcs)

FO6D00040AD00 8 - 10 4 M4 Right 4 8 8 8 21 16 6 8 0,5 0,5 100° 90° 120° 30° 320 100
FO6D00051AD00 - 5 M5 Right 5 10 10 9 26 20 7,5 10 0,5 0,5 100° 90° 120° 30° 500 100
FO6D00051AS00 - 5 M5 Left 5 10 10 9 26 20 7,5 10 0,5 0,5 100° 90° 120° 30° 500 100
FO6D00052AD00 - 5 M5 Right 5 10 10 9 36 30 7,5 20 0,5 0,5 100° 90° 120° 30° 500 100
FO6D00052AS00 - 5 M5 Left 5 10 10 9 36 30 7,5 20 0,5 0,5 100° 90° 120° 30° 500 100
FO6D00061AD00 12 - 16 6 M6 Right 6 12 12 10 31 24 9 12 0,5 0,5 100° 90° 120° 30° 720 100
FO6D00061AS00 12 - 16 6 M6 Left 6 12 12 10 31 24 9 12 0,5 0,5 100° 90° 120° 30° 720 100
FO6D00062AD00 - 6 M6 Right 6 12 12 10 43 36 9 24 0,5 0,5 100° 90° 120° 30° 720 100
FO6D00062AS00 - 6 M6 Left 6 12 12 10 43 36 9 24 0,5 0,5 100° 90° 120° 30° 720 100
FO6D00081AD00 20 8 M8 Right 8 16 16 14 42 32 12 16 0,5 0,5 100° 90° 120° 30° 1.280 100
FO6D00081AS00 20 8 M8 Left 8 16 16 14 42 32 12 16 0,5 0,5 100° 90° 120° 30° 1.280 100
FO6D00083AD00 - 8 M8 Right 8 16 16 14 58 48 12 32 0,5 0,5 100° 90° 120° 30° 1.280 100
FO6D00083AS00 - 8 M8 Left 8 16 16 14 58 48 12 32 0,5 0,5 100° 90° 120° 30° 1.280 100
FO6D00102AD00 - 10 M10 Right 10 20 20 18 52 40 15 20 0,5 0,5 100° 90° 120° 30° 2.000 100
FO6D00102AS00 - 10 M10 Left 10 20 20 18 52 40 15 20 0,5 0,5 100° 90° 120° 30° 2.000 100
FO6D00102BD00 25 - 32 10 M10 x 1,25 Right 10 20 20 18 52 40 15 20 0,5 0,5 100° 90° 120° 30° 2.000 100
FO6D00104AD00 - 10 M10 Right 10 20 20 18 72 60 15 40 0,5 0,5 100° 90° 120° 30° 2.000 50
FO6D00104AS00 - 10 M10 Left 10 20 20 18 72 60 15 40 0,5 0,5 100° 90° 120° 30° 2.000 50
FO6D00122AD00 - 12 M12 Right 12 24 24 20 62 48 18 24 0,5 0,5 100° 90° 120° 30° 2.880 50
FO6D00122AS00 - 12 M12 Left 12 24 24 20 62 48 18 24 0,5 0,5 100° 90° 120° 30° 2.880 50
FO6D00122BD00 40 12 M12 x 1,25 Right 12 24 24 20 62 48 18 24 0,5 0,5 100° 90° 120° 30° 2.880 50
FO6D00124AD00 - 12 M12 Right 12 24 24 20 86 72 18 48 0,5 0,5 100° 90° 120° 30° 2.880 50
FO6D00124AS00 - 12 M12 Left 12 24 24 20 86 72 18 48 0,5 0,5 100° 90° 120° 30° 2.880 50
FO6D00163AD00 - 16 M16 Right 16 32 32 26 83 64 24 32 1 1 100° 90° 120° 30° 5.120 20
FO6D00163AS00 - 16 M16 Left 16 32 32 26 83 64 24 32 1 1 100° 90° 120° 30° 5.120 20
FO6D00163BD00 50 - 63 16 M16 x 1,5 Right 16 32 32 26 83 64 24 32 1 1 100° 90° 120° 30° 5.120 20
FO6D00166AD00 - 16 M16 Right 16 32 32 26 115 96 24 64 1 1 100° 90° 120° 30° 5.120 20
FO6D00166AS00 - 16 M16 Left 16 32 32 26 115 96 24 64 1 1 100° 90° 120° 30° 5.120 20
FO6D00204AD00 - 20 M20 Right 20 40 40 34 105 80 30 40 1,5 1 100° 90° 120° 30° 8.000 10
FO6D00204AS00 - 20 M20 Left 20 40 40 34 105 80 30 40 1,5 1 100° 90° 120° 30° 8.000 10
FO6D00204BD00 80 - 100 20 M20 x 1,5 Right 20 40 40 34 105 80 30 40 1,5 1 100° 90° 120° 30° 8.000 10
FO6D00305AD00 - 30 M30 Right 30 55 55 48 148 110 38 54 2 1 100° 90° 120° 30° 12.500 4
FO6D00305AS00 - 30 M30 Left 30 55 55 48 148 110 38 54 2 1 100° 90° 120° 30° 12.500 4
FO6D00305BD00 125 30 M30 x 2 Right 30 55 55 48 148 110 38 54 2 1 100° 90° 120° 30° 12.500 4
FO6D00367AD00 - 35 M36 Right 35 70 70 60 188 144 40 72 3 1 100° 90° 120° 30° 24.500 2
FO6D00367AS00 - 35 M36 Left 35 70 70 60 188 144 40 72 3 1 100° 90° 120° 30° 24.500 2
FO6D00367UD00 160 - 200 35 M36 Right 35 70 70 60 188 144 40 72 3 1 100° 90° 120° 30° 24.500 2

STANDARD  
DIN 71752

MATERIAL  
AISI303 (Stainless steel)

NOTES
For codes with d1>18, the indicated dimensions are not 
covered by DIN 71752.
* 1 DaN (decanewton) = 1.02 Kgf (kilogram-force).

FEMALE FORK
stainless steel



SM SM1

d

D1

H

L

L1

DA

R

17.48www.gberardi.com - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

PE5D0

Code D 
(h11)

L L1 d 
(H14)

D1 
(h12)

H SM SM1 R A Package
(pcs)

PE5D000401005 4 12 10 1 6 1 0,5 0,8 0,3 30° 100
PE5D000501205 5 15 12 1,5 8 1,5 0,5 0,8 0,3 30° 100
PE5D000601505 6 18 15 1,6 9 1,5 0,5 1 0,5 30° 100
PE5D000801905 8 23 19,5 2 12 2 1 1 0,5 30° 100
PE5D001002405 10 29 24,5 3,2 14 2 1 1,5 0,5 30° 100
PE5D001202905 12 35 29,5 4 17 3 1,5 2 0,5 30° 50
PE5D001403205 14 40 32,5 4 19 3 1,5 2,5 1 30° 50
PE5D001603705 16 45 37,5 4 21 3 1,5 2,5 1 30° 20
PE5D001804305 18 50 43,5 5 23 3 2 2,5 1 30° 20
PE5D002004705 20 54 47 5 26 4 2 3 1 30° 10
PE5D002505905 25 67 59 6 32 5 2 3 1 30° 10
PE5D003006305 30 71 63 6,3 36 5 2 3 1 30° 4
PE5D003508005 35 90 80 8 44 6 2 4 2 30° 2
PE5D004209805 42 108 98 8 48 6 2 4 2 30° 1
PE5D005011105 50 123 111 10 58 7 2 6 2 30° 1

STANDARD  
DIN 1434/B

MATERIAL  
11SMnPb30 (Steel)

SURFACE TREATMENT
White galvanized

DRILLED FLAT HEAD PIN



SM SM1

D1 D2
H

L

L1
DA

R

S

17.49 www.gberardi.com  - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

PE5T0

Code D 
(h11)

L L1 D1 
(h12)

D2
(h11)

H SM SM1 R S A Package
(pcs)

PE5T000400805 4 10,5 8,5 6 3,2 1 0,5 0,5 0,3 0,64 30° 100
PE5T000501005 5 13 10,5 8 4 1,5 0,5 0,5 0,3 0,74 30° 100
PE5T000601205 6 15,5 12,5 9 5 1,5 0,5 0,5 0,5 0,74 30° 100
PE5T000801605 8 20 16,5 12 6 2 1 1 0,5 0,94 30° 100
PE5T001002005 10 25 20,5 14 8 2 1 1 0,5 1,05 30° 100
PE5T001202405 12 30 24,5 17 9 3 1,5 1,5 0,5 1,15 30° 50
PE5T001402705 14 33 27,5 19 10 3 1,5 1,5 1 1,25 30° 50
PE5T001603205 16 38,5 32,5 21 12 3 1,5 1,5 1 1,35 30° 20
PE5T002004005 20 46 40,5 26 17,5 4 2 1,5 1 1,8 30° 10
PE5T002505005 25 57 50,5 26 18 5 2 1,5 1 1,8 30° 10

MATERIAL  
11SMnPb30 (Steel)

SURFACE TREATMENT
White galvanized

GROOVED FLAT HEAD PIN



SM

D D2

S S

SM

L

L1

A

17.50www.gberardi.com - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

PE5I0

Code D
(h11)

L L1 D2 
(h11)

S SM A Package 
(pcs)

PE5I000601205 6 17 12 5,7 0,8 0,5 30° 100
PE5I000801605 8 20 16,5 7,6 0,9 0,5 30° 100
PE5I001002005 10 25 20,5 9,6 1,1 0,5 30° 100
PE5I001202405 12 30 24,5 11,5 1,1 1 30° 50
PE5I001402705 14 35 27,5 13,4 1,1 1 30° 50
PE5I001603205 16 39 32,5 15,2 1,1 1 30° 20
PE5I002004005 20 48 40,5 19 1,3 1 30° 10
PE5I002505005 25 60 50,5 23,9 1,3 1 30° 10
PE5I003005505 30 65 55,5 28,6 1,6 1 30° 4
PE5I003507005 35 84 70,5 33,4 1,6 1 30° 2
PE5I004008905 40 104,3 89 37,5 1,85 2 30° 1
PE5I004208905 42 104,3 89 39,5 1,85 2 30° 1
PE5I005010005 50 117,3 100 47 2,15 2 30° 1

MATERIAL  
11SMnPb30 (Steel)

SURFACE TREATMENT
White galvanized

PIN WITHOUT GROOVED HEAD
steel



SM SM

L

L1

D D2 A
S S

17.51 www.gberardi.com  - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

PE6I0

Code D 
(h11)

L L1 D2 
(h11)

S SM A Package 
(pcs)

PE6I000501000 5 15 10,5 4,8 0,7 0,5 30° 100
PE6I000601200 6 17 12,5 5,7 0,8 0,5 30° 100
PE6I000801600 8 20 16,5 7,6 0,9 0,5 30° 100
PE6I001002000 10 25 20,5 9,6 1,1 0,5 30° 100
PE6I001202400 12 30 24,5 11,5 1,1 1 30° 50
PE6I001603200 16 39 32,5 15,2 1,1 1 30° 20
PE6I002004000 20 48 40,5 19 1,3 1 30° 10
PE6I003005500 30 65 55,5 28,6 1,6 1 30° 4
PE6I003507000 35 84 70,5 33,4 1,6 1 30° 2

MATERIAL  
AISI303 (Stainless steel)

PIN WITHOUT GROOVED HEAD  
stainless steel



L
L1

H
2

HH
1

H
4

D

SM

A

17.52www.gberardi.com - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

CM5D0

Code D 
(h11)

H4 H H1 H2 L L1 SM Package
(pcs)

CM5D000400805 4 8 19 15 4,5 11 9 0,5 100
CM5D000501005 5 10 23 19 4,5 13,5 12 0,5 100
CM5D000502005 5 20 33 29 4,5 13,5 12 0,5 100
CM5D000601205 6 12 28 23 6 16 14 0,75 100
CM5D000602405 6 24 40 35 6 16 14 0,75 100
CM5D000801605 8 16 37 31 8 23 19 1 100
CM5D000803205 8 32 53 47 8 23 19 1 100
CM5D001002005 10 20 46 39 10 27 23 1 100
CM5D001004005 10 40 66 59 10 27 23 1 50
CM5D001202405 12 24 55 46 12 32 28 1,25 50
CM5D001204805 12 48 79 71 12 32 28 1,25 50
CM5D001402805 14 28 62 52 14 34 31 1,5 50
CM5D001405605 14 56 92 82 14 34 31 1,5 50
CM5D001603205 16 32 72 62 14 41 36 1,5 20
CM5D001606405 16 64 103 92 16 41 36 1,5 20
CM5D002004005 20 40 88 72 16 49 44 1,5 10

MATERIAL 
C67 (Steel) 

SURFACE TREATMENT 
White galvanized

FORK CLIPS



G

L1

L

S1

H

D

S

H1

SM1

D
2

17.53 www.gberardi.com  - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

CM5SL

Code D 
(h11)

D2 
(h11)

G H H1 L L1 S S1 SM1 Max 
axial force

(DaN) *

Package
(pcs)

CM5SL00400005 4 3,2 7 2,3 2 8,5 4 0,64 0,3 0,5 100 100
CM5SL00500005 5 4 9 3,3 2,5 10,7 5 0,74 0,4 0,5 130 100
CM5SL00600005 6 5 11 3,8 3 14,1 6 0,74 0,4 0,8 150 100
CM5SL00800005 8 6 14 4 3,5 17,5 8 0,94 0,5 1 360 100
CM5SL01000005 10 8 18 5 4,5 22,1 10 1,05 0,5 1 640 100
CM5SL01200005 12 9 22 5 5 26 12 1,15 0,5 1,3 960 50
CM5SL01400005 14 10 25 6 5,5 30 13,5 1,25 0,6 1,5 1.132 50
CM5SL01600005 16 12 28 6 6 34 16 1,35 0,6 1,5 1.350 20

MATERIAL 
C67 (Steel) 

SURFACE TREATMENT 
White galvanized

NOTES
* 1 DaN (decanewton) = 1.02 Kgf (kilogram-force).

GROOVED PIN SPRING STANDARD 08 



G

L

L1

H

S1
H1

DD
2

S

SM1

17.54www.gberardi.com - ic@gberardi.com

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

CM5KL

Code D 
(h11)

D2 
(h11)

G H H1 L L1 S S1 SM1 Max 
axial force

(DaN) *

Package 
(pcs)

CM5KL00400005 4 3,2 6,7 2,7 2 7 4,3 0,64 0,4 0,5 150 100
CM5KL00500005 5 4 7,5 2,8 2,5 8,7 5,2 0,74 0,5 0,5 300 100
CM5KL00600005 6 5 10,4 3,5 3 11,5 6,8 0,74 0,5 0,8 485 100
CM5KL00800005 8 6 11,5 4,1 3,5 12,1 7,2 0,94 0,5 1 550 100
CM5KL01000005 10 8 15,6 5,9 4,5 16,3 9,5 1,05 0,6 1 950 100
CM5KL01200005 12 9 16,7 6,1 5 18 10,5 1,15 0,6 1,3 1.070 50
CM5KL01400005 14 10 19 6,5 5,5 20 11,5 1,25 0,7 1,5 1.270 50
CM5KL01600005 16 12 22,7 7,8 6 23,5 13,8 1,35 0,8 1,5 1.400 20
CM5KL02000005 20 16-18 34,5 9 8 34 20 1,8 1 1,5 1.600 10

MATERIAL 
C67 (Steel) 

SURFACE TREATMENT 
White galvanized

NOTES
* 1 DaN (decanewton) = 1.02 Kgf (kilogram-force).

GROOVED PIN SPRING STANDARD 09


